CHANDOX

IS09001+C€

CHANDOX

g TEBEBIXE{DBRAT

EALERERBRIEE T EET —iR45R
EEEE: 04-7978666 (104F) / {5 E: 04-7978660

CHANDOX PRECISION INDUSTRIAL CO., LTD.

No. 4, Gong 1st Rd., Shengang Shiang, Changhua County 509, Taiwan.
Tel:886-4-7978656 (3 lines) / Fax:886-4-7978662 (OVERSEAS)
http://www.chandox.com / E-mail:chandox@chandox.com, chandox@ms76.hinet.net

jSEE ]

(=] i =1
N

www.chandox.com

T B B &= P A
CHANDOX PRECISION CHUCKS

HHRERS / Edition 04,2021 E:

ARERBERAREN - BFEDRIGIET - EBEEES) - MASBIT@A -
The company reserves the right to final amendments, changes, and product specifications. If there are related changes, we will not notify you. @w

Design by VLs. 04-24751010



CHANDOX BIIT5S19854F 4 Established In 1983

(@2 4) &F ~ 43~ 8 & [Three concepts] Quality, Design, Manufacture
O TERHGEES—EGG 0 cHANDOX provides products of the best quality.
O TEIRHERETEIFTRVER ') cHANDOX provides products of innovative design.
U TERHEERSHEGR ) cHANDOX provides products of professional manufacture.
(e {8 B8 2% ] [Four insistences)
O BRFIBRFRESIAT O HRFIRSHEEIFTHIEIM 2 We insist on the most outstanding human resources. 2 We insist on the most innovative technology.

O BRAIEFRITENRE O RFfIBRSRENIRIE 2 We insist on the most advanced equipments. 2 We insist on the most perfect manufacturing environment.



@HA ToYo)'d |FER RIINGE Tohe4slsanetiRettar-ahts
NEW PRODUCT HIGHLIGHT All series of CHANDOX products
have products liability insurance of US $2,000,000.

CL-DP IC, TB-IC
= MEHERHIZTE (KRIE) KILE=MSEZEHEXICEE KILETERICDZEH[EX SmEEFT hZERE R 1TIEHEERHREE 5@@5;;—?\,15_3%*?3 . o EAETE /SHESDIEES
3-JAW SOLID CHUCK WITH LARGE THROUGH HOLE 3-JAW LARGE THROUGH HOLE THIN CRANK TYPE LONG JAW (K3HE) (S LL5ER) (FEREN) INDEXING CHUCKS,

ANTI-CHIPS SEALED HIGH SPEED POWER HOLLOW ROTARY HYDRAULIC STROKE HOLLOW ROTARY AIR CHUCK FIXTURE HYDRAULIC FEED TUBE

(LOW TORQUE) (BUILT-IN CHECK
CHUCKS CYLINDERS POWER CHUCKS VALVE) (CONTINUOUS ROTATING)

MB =HH1E PLVVE B SK

KL PITRSH AR TEE ST ERACRE BRI SHER P B S EFEiEss 3 7B = IT\PEEE (A HEHR /A 3LEE)
LARGE THROUNGE HOLE POWER FIXTURE CHUCKS MODLE PULL BACK POWER AIR FEED TUBE 3-JAW POWERFUL TYPE
CHUCK FIXTURE CHUCK FIXTURES SCROLL CHUCKS




SHIEE SR B3

HYDRAULIC CHUCKS SERIES

08 OPT
—IMSE

ZESH[EE IR EE
2-JAW HIGH SPEED
HOLLOW POWER

CHUCKS

09
=meEsE
CpZosHEESREE

3-JAW HIGH SPEED
HOLLOW POWER
CHUCKS

10
OSSR

ZE5HH/ERBRER
4-JAW HIGH SPEED
HOLLOW POWER

CHUCKS

11 OP-L
=MAZBRITIE
SHIEEZREE
3-JAW

LONG STROKE
HOLLOW POWER

CHUCKS

11 OPT-L
—MohZeE{Ti2
HEESRTE

2-JAW

LONG STROKE
HOLLOW POWER
CHUCKS

12 P
=R N ZEHER TR T
SUPER HIGH
SPEED HOLLOW
ROTARY

HYDRAULIC
CYLINDERS

13
THEISRONZE
SHEEEESET
HIGH SPEED
COMPACT HOLLOW
ROTARY

HYDRAULIC
CYLINDERS

14 PA
wEE R mhze
SHIEFDESEL

HIGH SPEED COMP
ACT HOLLOW
ROTARY

HYDRAULIC
CYLINDERS

15 OPB
RILE=TSEE

ZE5H[EE S
LARGE THROUGH
HOLE 3-JAW HIGH

SPEED POWER
CHUCKS

16 OPBT
RILIEZMER

ZE5H[EEREE
LARGE THROUGH
HOLE 2-JAW HIGH

SPEED POWER
CHUCKS

16 OPBF
RILEDLNER

225 HEE P EE
LARGE THROUGH
HOLE 4-JAW HIGH

SPEED POWER
CHUCKS

17
K I

ZeSH AR L
LARGE THROUGH
HOLE THIN
HOLLOW ROTARY

HYDRAULIC
CYLINDERS

CL

18
= /Mo EHER5EER

3-JAW SOLID
POWER CHUCKS

18 CLT
— MR ESSHEE 2 EE
2-JAW SOLID
POWER CHUCKS

19 CL-DP
= MO EHEEIREE
3-JAW SOLID CHUCK

WITH ANTI-CHIPS
SEALED

VL-DP

Y7 B85 R ES SRR e EH
(S3EHEIR)

3-JAW SOLID CHUCK
WITH ANTI-CHIPS
SEALED & WATER-
PROOF FLANGE
PLATE FOR
VERTICAL LATHE

20

21 EL
= MAZEBRITIE
SHIERZREE

CRANK TYPE LONG
JAW STROKE
HOLLOW POWER

CHUCKS

21 ELT
—MOZEBRI1TE
SHIERZREE

CRANK TYPE LONG
JAW STROKE

HOLLOW POWER
CHUCKS

22

PL
BN TUSHERPREE

PULL BACK
POWER CHUCKS

23
CHEHER IS EL
SOLID ROTARY

HYDRAULIC
CYLINDERS

ChESSHER @ EL
GENBIS i)
SOLID ROTARY
HYDRAULIC
CYLINDERS

(WITH COOLANT
CONNECTION & CHECK
VALVE)

25 L-RE
CRESSHE IS EL
(BT R R RIS )
SOLID ROTARY
HYDRAULIC
CYLINDERS

(BUILT-IN CHECK VALVE
& SENSOR)

26 L-RA
CRESSHE @S EL
CERBISIEERE)
SOLID ROTARY
HYDRAULIC
CYLINDERS

(WITH AIR CONNECTION
& CHECK VALVE)

26 L-RC
CRESHERE#SEL
CENBISIEEIE)
SOLID ROTARY
HYDRAULIC
CYLINDERS
(WITH COOLANT

CONNECTION & CHECK
VALVE)

27 LS-RE
ABE Al a S
EL(P 1508 R ARAN S )
COMPACT SOLID
ROTARY
HYDRAULIC

CYLINDER (BUILT-IN
CHECK VALVE & SENSOR)

27 LS-REA
SR BRI ESMER
SEHEEL (B LT R AR RN 5
&)

COMPACT SOLID
ROTARY HYDRAULIC
CYLINDER WITH AIR

CONNECTION BUILT-IN
CHECK VALVE & SENSOR)

28 CK
[EEZSE
COLLET CHUCKS

29 IC
D EIREE
INDEXING CHUCKS

29 TB-IC
SHEREEEEs

HYDRAULIC FEED
TUBE

30 PLVE
BRIV HER R EE

PULL BACK
POWER CHUCK
FIXTURES
(HYDRAULIC)

1 Y
=MPZERITIE
SHERZR A
3-JAW LONG
STROKE HOLLOW

POWER CHUCK
FIXTURES

31
—MhZERITIE
SHIERPR RS

2-JAW LONG
STROKE HOLLOW
POWER CHUCK
FIXTURES

32
=/MRZEBRITE
SHERPRHZ
3-JAW CRANK TYPE
LONG JAW STROKE

HOLLOW POWER
CHUCK FIXTURES

32
—MohZE8RITIE
SHERTR A2

2-JAW CRANK TYPE
LONG JAW STROKE
HOLLOW POWER
CHUCK FIXTURES

33

PR T\ P 225 X

=MZRAEE =
3-JAW HOLLOW
POWER CHUCK

FIXTURES
(HYDRAULIC)

33

PR\ R 225 [EE
S

2-JAW HOLLOW
POWER CHUCK

FIXTURES
(HYDRAULIC)

34

KILIERTREIN
SHIEEZRER
LARGE THROUNGE
HOLE POWER

CHUCK FIXTURE
(HYDRAULIC)

KB IREETRTI
PNEUMATIC CHUCKS SERIES

35 MD

PR\ Bl FH T
=MRIEEIREE
(BE5EZE)

3-JAW AIR CHUCKS

FIXTURE
(SINGLE PISTON)

35

P T\ B EHEY
=TSR EE AR
(BE;EE)

3-JAW AIR CHUCKS

FIXTURE
(SINGLE PISTON)

<l MFR

A BUEHEY
=TRERER
(85

3-JAW AIR CHUCKS
FIXTURE
(DOUBLE PISTON)

36 MFR-M

P T\ B EHEY

=TSR EERER
(EEE3E)

3-JAW AIR CHUCKS

FIXTURE
(DOUBLE PISTON)

37 LILS
=M BE AR R EE PR EE

3-JAW SUPER
PRECISION AIR

CHUCKS
37 TK-T
22 ey S

2-JAW SUPER
PRECISION AIR
CHUCKS

38 MTK
IV EBIEEE
=MREBRER
3-JAW SUPER

PRECISION AIR
CHUCK FIXTURES

38 MTK-T
ZTURERR R
2-JAW SUPER

PRECISION AIR
CHUCK FIXTURES

39 TB, TBC
REEOEEES
AIR FEED TUBE
RBEEEEE GEKE)
AIR FEED TUBE

(FOR GRINDER
MACHINES)

39 MTB
REEEEE
AIR FEED TUBE

39 TB-HA
SHER @i as
(SEREE)
HYDRAULIC

FEED TUBE
(BUILT-IN SENSOR)

40 ADP, FR

SEREEE

MOUNTING PLATES
BN IR BY RS
FORMING RINGS
(FOR SOFT JAWS OF

SUPER PRECISION AIR
CHUCKS)

40 J

BT IREEE

SOFT JAWS FOR
SUPER PRECISION
CHUCKS

al RT
(RIERYEES)
3-JAW ROTARY AIR
CHUCK FIXTURE

(INTERMITTENT
OPERATION)

42

=MOE 5T ER IR AS
(ER5E) (S ¥R (TEEEE)
3-JAW ROTARY AIR
CHUCK FIXTURE
(LOW TORQUE)

(BUILT-IN CHECK VALVE)
(CONTINUOUS ROTATING)

42
ZMGEEE R R AR A2
(E1RAE) (B LT (TEHEE)
2-JAW ROTARY AIR
CHUCK FIXTURE
(LOW TORQUE)

(BUILT-IN CHECK VALVE)
(CONTINUOUS ROTATING)

43

FREHEEPRIL
SRBRTRER

2 ACTUATING AXES
SELF-CENTERING
SOLID AIR CHUCK
FIXTURES

44
= MREESEEE
3-JAW AIR CHUCKS

ErEIF R

PARTS & ACCESSORIES

45 ]
SHEESE T

SOFT JAWS

( SJ-SERIES ) FOR
HYDRAULIC
CHUCKS

SHEEEE T
HARD JAWS
( HJ-SERIES ) FOR
HYDRAULIC
CHUCKS

BRITNIREEE A

SOFT JAWS FOR
PULL BACK POWER
CHUCKS

SERGER
MOUNTING PLATES




FE)REFFRI

SCROLL CHUCKS SERIES

+7 I
@B = T\3e58
3-JAW SCROLL
CHUCKS

47 AS
SHERYTITIRER

6-JAW AWL TYPE
CHUCKS

48
@B T\ 558

4-JAW SCROLL
CHUCKS

48 AE
SRS/ \JT\ZRER

8-JAW AWL TYPE
CHUCKS

49 SK
587IBI=T\5&EE

3-JAW POWERFUL
TYPE SCROLL
CHUCKS

49 SKB

RILE
3a7JBY = [T\3REH

LARGE THROUGH
HOLE 3-JAW

POWERFUL TYPE
SCROLL CHUCKS

49 Al(A2)
B3R = T3&EE

3-JAW A1(A2) TYPE
CHUCKS

50 PSK
587758 S BIPU/T\ZREE

4-JAW POWERFUL
TYPE SCROLL
CHUCKS

50 D1
BEEI = T3EE

3-JAW D1 TYPE
CHUCKS

57 Ne)
37JEM

POWER SOFT
JAWS

EE AR
SUPER THIN CHUCKS SERIES

51 TS
SR JIEBTE Y IR AR

POWERFUL TYPE
SUPER THIN
CHUCKS

52
TS BUEE AR AR

SUPER THIN
SQUARE CHUCKS

FEER AR
SUPER THIN
CHUCKS

NS R e R

STAINLESS STEEL
SUPER THIN
CHUCKS

HRRYZRBEFRTI
STEEL BODY CHUCKS SERIES

54 TNT

EE T\ IR — TZRER

2-JAW STEEL BODY
CHUCKS

54
ESTVEHRAR = /T\5’EE

3-JAW STEEL BODY
CHUCKS

55

TR
= MR eeE
3-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

55

ST EEE
0T\ SRR SR
4-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

56

[ Ak
MR 2REE
2-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

[DEEEa:: Ak
=/MEfRZREE

3-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

[EC Rk
DO/ 2eEE

4-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

DINEX#R ZEBH R F
DIN CHUCKS SERIES

58 3DACT
A EE
=MemAsess

3-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

T
T
4-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

T
7T SRR PEaE
6-JAW
ADJUSTMENT
STEEL BODY
SCROLL CHUCKS

[DELE Ak
= MR ZRE]
3-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

TR
0T\ SRR 5 EE
4-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

TR sR/IEY
7SR ZRER

6-JAW POWERFUL
TYPE ADJUSTMENT
STEEL BODY
CHUCKS

S
~

=R

ZEHEX DL 8R

R Y B > Dimensions

OP 2-JAW HIGH SPEED HOLLOW POWER CHUCKS

w w
T T
= B
Tt SEE £ <Pk
30° v ’m\ 0
= T =) ~—
3 >10 (< 3 > 0| O| <
i L1_1lp Qy Q| s o @ Q| e @ El :é
30° I %L = = %L =T -
—- s B
L= L= | \K
Y% < V| - ]
OPT-204,205 #! OPT-206,208,210,212,215 # | =Er M e
E L
2 B B
#52 #% 32 > Specifications EE{iI/UNIT:mm
B AR THEIRER
MODEL Nose Of A B (h6) D E E1 F G H H1 | J K L
/ SPEC. Spindle
OPT-204 - 110 59 85 - - -~ 4 - 706 - - 26  4-M10X1.5P -
OPT-205 A4 135 60 110 63513 20 -- 4 96 826 PCDo118 4-M8x1.25P 33  4-M10x1.5P 15
OPT-206 Ax-5 169 81 140 82563 15 - 5 116 1048 PCDo145 6-M10x1.5P 45  6-M10x1.5P 16
OPT-208 Ax-6(A=-5) 210 91 170 106.375 17 23 5 150 1334 PCDg180 6-M10x1.5P 52 6-M12x1.75P 18
OPT-210 A:-8(A=-6) 254 100 220 139.719 18 28 5 190 171.4 PCDg225 6-M12x1.75P 75 6-M16x2P 23
OPT-212 A--8 304 110 220 139.719 18 -- 6 190 171.4 PCD@250 6-M12x1.75P 91 6-M16x2P 25
OPT-215 Ax-11(A:-8) 381 133 300 196.869 22 33 6 260 235 PCD@324 6-M12x1.75P 117.5 6-M20x2.5P 28
. BILERE ETRE
BT\ 3RS o
N N ©) O P P Thru-Hole  Plunger
MODEL M max. min. max.  min.  max.  min. Q R S T u v w X Y [Diameter] Strol%e
/ SPEC. (mm) (mm)
OPT-204 14 23 203 115 6.7 35 65 283 10 175 2 M32x1.5P 12 24 495 -- 26 10
OPT-205 14 26.2 23.5 19 6 1 -9 25 10 20 2 M40x1.5P 12 315 62 -- 33 10
OPT-206 20 32.35 29.6 24 7 11 -1 31 12 19 2 Mb5x2P 20 375 73 - 45 12
OPT-208 25 39.1 35.4 30 116 145 -15 35 14 205 2 M60x2P 30 395 95 104.8 52 16
OPT-210 30 515 471 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 1334 75 19
OPT-212 30 61.6 56.3 46 12 8 -15 50 21 28 2 M100x2P 50 51 129 -- 91 23
OPT-215 43 823 77 46 13 7.5 -16 62 22 425 5 M130x2P 48 66.5 165 171.4 1175 23
MiT1E =k = g RARE
) paLE o mAHI] BRAREREN R - &l -
U, /4948 (EE) B DEE Max. Pull Max. Gripping SRR FE pEEAE 0 NTHE
MSEE% ‘fgwaﬁter?ekr(]a Max.Speed Force Force M;‘X' Hydr. Weight Matching Gripping
b I r.p.m.(min"* ressure (kg) ; Range
(mm) p.m.(min”) kgf  (kN) kgf  (kN) kgfiemt (MPa) Cylinder
OPT-204 5.4 8000 920  (9) 1930  (19) 155  (1.5) 3.6 P0928 07~0110
OPT-205 5.4 7000 1120 (11) 2340  (23) 19 (1.9) 6.5 P1036 010~0135
OPT-206 55 6000 1420 (14) 3770  (37) 185  (1.8) 13.1 P1246 013~0169
OPT-208 7.4 5000 2240 (22) 5710 (56) 17 (1.7) 23.0 P1552 013~0210
OPT-210 8.8 4200 2850  (28) 7440  (73) 18 (1.8) 35.9 P1875 030~0254
OPT-212 10.6 3300 3670 (36) 9690  (95) 18 (1.8) 56.6 P2091 035~0304
OPT-215 10.6 2500 4790  (47) 12130 (119) 17 (1.7) 103.2 P2511 035~0381

08



3-JAW HIGH SPEED HOLLOW POWER CHUCKS 4-JAW HIGH SPEED HOLLOW POWER CHUCKS

INEE P ZEHERIEEA

JL

=3

BH: 0K SLEE

Larger Through Hole
OP-221,224/8 KX 3L{EERET
With Larger Through Hole

chZe s EE JE0E

R 3 B > Dimensions

R Y BE > Dimensions

_e'e Q
Rl W
[1T] why
AL ni. pees :
- - Pl 7°7'30"
-~ i I X ol FEHI- L }
7 A T Y]
XEXEE?J xi—@z;ﬂ A0 = >10 ol <
= = llu ) - _; L O o _ o) o vl 8 8
S 1p888 =3¢ 88888 . £ = ] 5|z
88 7 88 s | & e R
= B ——F— — K
= 2 L= K 1/l _
| h Ell K /] F E . Ell K E]
OP-221,0P-224 E B g EITIL g —JIE OPF-206,208,210,212 & 5 L ol =
#8 4& & > Specifications BEiI/UNIT:mm
. > Specifications & :
BRI c #2483 > Sp E{/UNIT:mm
MODEL N Oth A B (h6) D E E1 F G H H1 bl H2 12 H3 - I
/SPEC. ose AR /EE  THSRER c
Spindle MODEL Nose Of B % D E E1 F G H H1 11 H2 12
OP-204 - 110 59 85 - - 4 - 70.6 - - - - - / SPEC. Spindle
OP-205 A4 135 60 110 63513 20 -- 4 96 826 PCDo118 3-M8x1.25P - - -
OP-206 A5 169 81 140 82563 15 - 5 116 104.8 PCDg145 6-M10x1.5P - - - OPF-206 Ax-5 169 81 140 82563 15 - 5 116 104.8 PCDg145 4-M10x1.5P -- --
OP-208 A-6(A-5) 210 91 170 106.375 17 23 5 150 133.4 PCDo180 6-M10x1.5P - - -
OP-210 A-8(A-6) 254 100 220 139.719 18 28 5 190 1714 PCDo225 6-M12x1.75P - - . OPF-208 Ax-6(A=-5) 210 91 170 106.375 17 23 5 150 133.4 PCDo180 4-M10x1.5P - -
OP-212 A8 304 110 220 139.719 18 -- 6 190 171.4 PCDg250 6-M12x1.75P - - -- OPF-210 A2-8(A=-6) 254 100 220 139.719 18 28 5 190 171.4 PCD@225 4-M12x1.75P - -
OP-215 A-11(A-8) 381 133 300 196.869 22 33 6 260 235 - - PCD@230 3-M12x1.75P PCD@300
oP-218 A-11(A=-8) 450 133 300 196.869 22 33 6 260 235 PCD0230 3-M12x1.75P PCD0300 3-M12x1.75P PCD@380 OPF-212 A-8 304 110 220 139.719 18 - 6 190 171.4 PCD@250 4-M12x1.75P - -
OP-221 A-15(A-11) 530 140 380 285.775 27 41 6 330.2 330.2 PCD@300 3-M16x2P PCD@380 3-M16x2P PCD@460 OPFE-215 Az11(A=-8) 381 133 300 196.869 22 33 6 260 235 PCD@324 4-M12x1.75P - -
OP-224 A:20(A=-15) 610 149 520 412745 27 42 6 463.6 4636 PCDo350 3-M16x2P PCDo450 3-M16x2P  PCD@550
OP-210BH A:-8(A=-6) 254 100 220 139.719 18 28 5 190 171.4 - - PCDo160 3-M12x1.75P PCD@220 OPF-218 Ax-11(A:-8) 450 133 300 196.869 22 33 6 260 235 PCD@300 4-M12x1.75P PCD@380 4-M12x1.75P
OP-212BH A8 304 108 220 139.719 18 - 6 190 171.4 = = PCDo170  3-M16x2P  PCDo260
BT /RS
MODEL 13 J K L m N N 6 O P P QR s T u vV W X AU
/ SPEC. e mm e e vobee K L m N N O O P P o R s T U VoW X Y
max. min. max. min. max. min.
OP-204 - 26 3-M10x1.5P -- 14 23 203 115 67 35 -65 23 10 175 2 M32x1.5P 12 24 495 / SPEC.
OP-205 - 33 3-M10x1.5P 15 14 262 235 19 6 1 9 25 10 20 2 M40x1.5P 12 315 62
OP-206 - 45  6-M10x1.5P 16 20 32.35 29.6 24 7 11 -1 31 12 19 2 M55x2P 20 37.5 73 OPF-206 45  4-M10xi5P 16 20 3235 296 24 7 11 -1 31 12 19 2 M55x2P 20 375 73 -
OP-208 - 52 6-M12x1.75P 18 25 39.1 354 30 11.6 145 -15 35 14 205 2 M60x2P 30 39.5 95
OP-210 - 75 6-M16x2P 23 30 515 471 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 OPF-208 52  4-M12x1.75P 18 25 39.1 354 30 116 145 -15 35 14 205 2 M60Ox2P 30 395 95 104.8
oP-212 - o1 6:MiexeP 25 30 616 568 46 12 8  -15 50 21 28 2 M100x2P 50 51 129 OPF-210 75  4-Mi6x2P 23 30 515 471 34 12 85 -105 40 16 25 2 M85x2P 40 43 110 133.4
OP-215 3-M12x1.75P 117.5 6-M20x2.5P 28 43 823 77 46 13 7.5 -16 62 22 425 5 M130x2P 48 66.5 165
OP-218 3-M12x1.75P 120 6-M20x2.5P 28 43 83.8 785 78 18 75 -16 62 22 425 5 M130x2P 48 66.5 165 OPF-212 91 4-M16x2P 25 30 616 563 46 12 8 -15 50 21 28 2 MI100x2P 50 51 129 --
OoP-221 3-M16x2P 180 6-M24x3P 35 60 119.6 1143 633 21.3 105 -13 65 25 425 5 M195x2P 80 73.5 180
OP-224 3-M16x2P oo oicE i on ea i s s o 11 65 25 41 5 M220x3P 80 735 180 OPF-215 117.5 4-M20x2.5P 28 43 823 77 46 13 7 16 62 22 425 5 M130x2P 48 66.5 165 171.4
OP-210BH  3-M12x1.75P 78 6-M16x2P 24 30 53.1 48.6 33.55 11.05 895 -10.55 40 16 25 2 M87x2P 40 43 110 OPF-218 120 4-M20x2.5P 28 43 838 785 78 165 7 -16 62 22 425 5 M130x2P 48 66.5 165 171.4
OP-212BH 3-M16x2P 93  6-M16x2P 27 30 63.7 58.7 4555 1255 865 -13.05 50 21 26 2 M103x2P 50 51 129
. _ _ MiTiE =g PR BRARE -
RIS /3845 BIEE HEGE (B gpmoms LA BEAEIED pgES) eg BB g —e TR ——" = BARTE -
MODEL v Thru-Hole Plunger jaw Stroke I\/TS.EpééTj Max. Pull  Max. Gripping  \fax. Hydr. V\lliiéht SHEFRLYSE gﬁﬁﬁ% B sEE  EILEE HETR (g R AN BRAE ST EE — E?;:. EEUD o
/SPEC. [Diameter] ~ Stroke  [Diameter] r.p.m.(min") Force Force Pressure gt Matching R =T S ThriHole PlUnger  Jaw Strok E=I=kSE  Max. Pull Max. Gripping IF SHERET BYSE L
p-m. kgf  (kN)  kgf  (kN) > kg Cylinder ange MODEL ru-Hole aw Stroke  \ax.Speed F F Max. Hydr.  Weight " Matchi Gripping
(mm) (mm) (mm) kgf/cm® (MPa) /SPEC. [Diameter] Stroke [Diameter] (min") oree ores Pressure (kg) Song Range
OP-204 - 26 10 5.4 8000 1428 (14) 2850 (28) 24  (23) 3.8 P0928 27~8110 ’ (mm) (mm) (mm) p-m. kaf  (kN) kgf  (kN) kgf/cm® (MPa) g Cylinder 9
OP-205 - 33 10 5.4 7000 1730 (17) 3570 (35) 29 (2.8) 6.1 P1036 210~0135
OP-206 - 45 12 5.5 6000 2140 (21) 5710  (56) 28  (27) 125 P1246 213~0169
OP-208 104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26 (2.5) 219 P1552 213~0210 OPF-206 45 12 55 4500 1630 (16) 4180  (41) 21 1) 14.2 P1246 022~0169
OP-210 133.4 75 19 8.8 4200 4280 (42) 11010 (108) 27 (2.6) 337 P1875 230~0254 OPF-208 52 16 7.4 3600 2440 (24) 6010 (59) 19 (1.9) 245 P1552 2925~0210
OP-212 - 91 23 10.6 3300 5500 (54) 14380 (141) 27 (2.6) 553 P2091 035~0304
OP-215  171.4 117.5 23 10.6 2500 7140 (70) 18250 (179) 245 (24) 106.8  P2511 035~0381 OPF-210 75 19 8.8 3200 3160 (31) 8050 (79) 20 (2.0) 381 P1875  028~09254
OP-218 171.4 120 23 10.6 2000 7140 (70) 18250 (179) 245 (24) 152 P2511 040~0450 OPF-212 91 23 10.6 2500 4080 (40) 10400 (102) 20 (2.0) 605 P2091 035~0304
OP-221 235 180 23 10.6 1700 9080 (89) 23760 (233) 235 (23) 195.2 P3420 2115~0530
OP-224  330.2 205 26 12 1400 9080 (89) 23760 (233) 235 (2.3) 2694  P3420 ©140~0610 OPF-215  117.5 23 10.6 1800 5400 (53) 13600 (134) 19 (1.9) 1115 P2511  063~0381
- Bk L] il 2 vy eAd) ) GIe W) ap B9 iy [ion ol OPF-218 120 23 10.6 1500 5400 (53) 13600 (134) 19  (1.9) 1645  P2511  080~0450
OP-212BH - 93 21 10 3300 5500 (54) 14380 (141) 28 (2.7) 574 P2093 235~0304

09



11

R Y B > Dimensions

OP'I_ OPT I_ LONG STROKE HOLLOW POWER CHUCKS

hZE R 1T HER2Z0R

=32

L: D172
Longer stroke

L

22 5H BRSO §F T

R Y B > Dimensions

SUPER HIGH SPEED HOLLOW ROTARY HYDRAULIC CYLINDERS

w U v
f
Ei Ri| Al B1 z
W W Wi
T T 17
] ] I 7] o
= = .
S L R i O R A S 5 ¢
< 5| U © o L/J &EQQ&Q&‘EQ7€§%777Q¢L1IC1Q&QQQQ ol 5| s 2| 3% Q| ®
= - ==10l< = - Tsia oo« i !
S5 SIS Sig SIRSESIS > =
gL 5[ = Lfls 2X2-S1 Ji= =
= = 2X2-S1
B B B == F1 \H \_“J Fl N
i - :
ay PT1 %ﬁ"’ E[
F K F EllL B
B Bl . PT1-1/4" /||| 40
B
OPT.L & B B . G1 | P2916,P3420 7 a1
#5248 3= > Specifications ESf/UNIT:mm
#5 $%& & > Specifications B8{iI/UNIT:mm UL /FRAS
> MODEL A1l B1 C C1 D Dt E E1 F F1 F2 G G1 H J J1 K K1 L1
BT /IR TESinER / SPEC. (h7)
MODEL Nose Of A B (h6) D E E1 F G H H1 I P0928 9 109 120 25 100 -- 80 8-M5x0.8P 60 6-M8x1.25P - 45 114 M38x1.5P 28 60 25 46 15
/ SPEC. Spindle P1036 11 120 136 25 115 - 100 6-M5x0.8P 65 6-M10x1.5P - 48 126 M42x1.5P 36 66 32 46 15
OP-206L As5 173 87 140 82.563 15 - 5 116 104.8 PCD@90 3-M8x1.25P P1246 12 126.5 155 30 130 - 100 6-M6x1P 80 12-M10x1.5P - 65 133 M55x2P 46 76 36 46 15
OP-208L A2-6(A2—5) 215 103 170 106.375 17 23 5 150 133.4 PCDg120 3-M8x1.25P P1552 12 136 190 30 170 -- 130 6-M6x1P 85 12-M10x1.5P - 70 145 M60x2P 52 87.5 36 46 15
CPa AoAS s 1 M0 e 15 s 5 1w ire Phoo oumirr cioie 7 isus zis 35100 - leo oMo iz tewioor - oo ieas meser ro o1 301
. . - - X - X1. - . . X
oL e A5 173 87 140 82.563 15 - 5 116 104.8 PCDo145 6-M10x1.5P P2091 21 168 240 35 215 - 180 6-M6x1P 140 12-M12x1.75P - 110 183 M100x2P 91 110 36 46 15
OPT-208L  A:-6(A=5) 215 103 170 106.375 17 23 5 150 133.4 PCDo180 6-M10x1.5P P2093 21 168 240 35 215 -- 180 6-M6x1P 140 12-M12x1.75P - 115 183 M103x2P 93 110 36 46 15
OPT-210L  A:-8(A--6) 256 112 220 139.719 18 28 5 190 171.4 PCDo225 6-M12x1.75P P2511 21 180 310 45 275 - 230 6-M6x1P 166 12-M16x2P - 140 190.5 M130x2P 120.1 135 40 46 15
AR /R P2016 22 201 345 45 298 305 260 6-M8x1.25P 220 12-Mi12x1.75P 12-Mi16x2P 195 229 M180x3P 166.5 180 50 60 15
IVTODEL H2 2 J K L M N N o o P3420 22 223 405 45 360 -- 320 6-M8x1.25P 260 12-M20x2.5P - 235 247 M220x3P 205 210 50 60 20
/SPEC max. min. max. min. P2016L 22 217 345 45 208 305 260 6-M8x1.25P 220 12-Mi2x1.75P 12-M16x2P 195 245 M180x3P 166.5 180 50 60 15
BT /FRAS
OP-206L PCDo140 3-M8x1.25P 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55 vV \Vj W W
. 1 A X1
OP-208L __ PCDo170 3-M8x1.25P 52 6-M12x1.75P 21 25 47.85 39.66 25.05 14.55 MODEL M Mi N NP PQ Q1 Rt. 8§ &1 T T U Ul o mn mx W min.
OP-210L PCDo220 3-M12x1.75P 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55 P0928 34.6 34 44 53 59 4 64.8 4-M4x0.7P(PCDo76) 5 95 PT1/4 105 4 159 137 9.05 -0.95 33.95 M34x1.5P 23.95 31.8
OPT-206L - - 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55 P1036 44.6 38 55 64 73 6 80 4-M5x0.8P(PCDo88) 5 105 PT3/8 115 6 179 154 10 -5 39 M44x1.5P 24 42
OPT-208L - -- 52 6-M12x1.75P 21 25 47.85 39.66 25.05 14.55 P1246 529 50 64 76 85 4 90 4-M5x0.8P(PCD@98) 6 116 PT1/2 115 6 184 172 10 -5 40 M52x1.5P 25 50
OPT-210L - - 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55 P1552 596 55 73 85 96 4 102 4-Mé6x1P(PCDg110) 7 137 PT1/2 130 6 196 210 17 -5 47 M58x1.5P 25 56
- — — P1875 84.6 80 98 108 121 4 131 4-M6x1P(PCDo155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
B /B8 BILERE HETE P1878 84.6 83 98 108 121 4 131 4-M6x1P(PCD@155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
MODEL P P Q R S T U v w X Y Thru-Hole  Plunger P2091 99.6 95 108 120 138 4 147 4-M6x1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
/SPEC. max. min. [Diameter]  Stroke P2093 99.6 100 108 120 138 4 147 4-M6x1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
(mm) (mm) P2511 134.6 125 148 160 178 4 184 4-M6x1P(PCDo206) 7 233 PT1/2 210 7 2705 - 24 -6 55 M134x2P 25 131
OP-206L 11 A 31 12 19 2 M55x2P 20 375 73 - 45 15 P2016 185 176.5 210 224 244 5 250 6-M6x1P(PCDo275) 7 310 PT3/4 262.5 6 308 - 24 -6 65 M185x3P 35 180
OP-208L 145 75 35 14 205 > M60x2P 30 395 95 104.8 52 20 P3420 225 210 250 264 284 5 200 6-M6x1P(PCDo315) 7 365 PT3/4 300 6 334 - 36 -6 77 M225x3P 35 220
OP-210L 5.5 165 40 16 o5 5 ME5x2P 40 43 110 133.4 =5 o5 P2916L 185 176.5 210 224 244 5 250 6-M6x1P(PCDo275) 7 310 PT3/4 262.5 6 324 - 36 -6 77 MI185x3P 35 180
OPT-206L 11 -4 31 12 19 2 M55x2P 20 37.5 73 -- 45 15 - T I o mpasp  nE BS EEEE RAHE(RI)T] .
OPT-208L 145 75 35 14 205 2  M60x2P 30 395 95  104.8 52 22 B /348 ton BEEDEE SEEER o Oil feFIEEy)  Piston Area(em) Max. Operating Force FE
o 1 4 1 > > M85x2P 40 43 110 133.4 75 25 MODEL  z g >P% Max. Speed Piston ¢ Inortia -eakage Max. HEZIRI  HITOH HETIMAY HI7JMA) Weight
PT-210L 8.5 -16.5 0 6 5 85x : / SPEC. troke 5 m.(min") Dia(mm) oknerzla ate Pressure Push Pull Push Side Pull Side (kg)
(mm) kg'm?)  (pimin) kgflom? (MPa) Side  Side kgf  (kN)  kgf  (kN)
M7 =g e BRARE e
‘ T# o D NTA BEAETE B A S -~ i - P0928 5 10 8000 20 0.008 3.0 40 (3.9) 54 47.5 2000 (19.6) 1750 (17.2) 6.5
BT /3848 (EE) BeEE Max. Pull Max. Gripping SHEEE ) PE SHERETRUSE RFFEIE P1036 5 15 8000 105 0.012 3.0 40 (39 70 68 2500 (24.5) 2400 (23.5) 9.0
MODEL Jaw Stroke Max.Speed Force Force Max. Hydr. Weight Matching Gripping P1246 5 15 7000 125 0.019 3.0 40  (3.9) 100 89 3700 (36.2) 3200 (31.3) 11.9
/ SPEC. [Diameter] r.p.m.(min") Pressure (kg) ; Range P1552 5 22 6200 155 0.053 3.9 40 (3.9) 160 150 5900 (57.8) 5500 (53.9) 17.3
(mm) kgf  (kN) kgf (kN) kgflcm?  (MPa) Cylinder
g P1875 5 25 4700 180 0.096 a2 40 (3.9) 198 183 6900 (67.6) 6400 (62.7) 26.1
OP-206L 10.8 4300 2140 (21) 4080 (40) o8 (2.7) 14.9 P1246 020~0173 P1878 5 25 4700 180 0.096 4.2 40 (3.9) 198 178 6900 (67.6) 6200 (60.8) 25.5
OP-208L 16 3500 3360 (33) 5910 (58) 26 (25 37 P1552  025~0215 E T 2800 205 odo  4s 40 (eo) sss  see  sm00 (804 400 (1o oz
OP-210L 18 3000 4280  (42) 7540  (74) 27 (2.6) 40.6 P1875 240~0256 P2511 6 30 2800 250 0.5 7.0 40 (3.9) 348 336 11800 (115.7) 11400 (111.8) 56.1
OPT-206L 10.8 4300 1420 (14) 2650  (26) 18.5  (1.8) 14.5 P1246 020~0173 P2916 6 30 2000 290 1.6 11 38  (3.7) 391 361 11700 (114.7) 10500 (103) 96.1
OPT-208L 16 3500 2240  (22) 3870  (38) 17 (1.7) 26.4 P1552 2925~0215 P3420 6 42 1600 340 3.2 14 35 (3.4) 510 474 14300 (140.2) 13300 (130.4) 138.5
OPT-210L 18 3000 2850 (28) 4990 (49) 18 (1.8) 39.5 P1875 040~0256 P2916L 6 42 2000 290 1.6 11 38 (38.7) 391 361 11700 (114.7) 10500 (103) 100.4

FEBIFZHE-EE /) : 30kgf/cm?(2.94MPa) sHif : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

12



13

gl

5

R Y BE > Dimensions

F' HIGH SPEED COMPACT HOLLOW ROTA

Z85H BRSO §5 T

RY HYDRAULIC CYLINDERS

BEEE

R Y B >» Dimensions

P HIGH SPEED COMPACT HOLLOW ROTARY HYDRAULIC CYLINDERS
Z85H BRSO B T

w u \% W U v
Rl A1 Bf z Ril_ At
N F2
E1 T E1 -
+ M T W1
@lglalzl 25l glg - :_;] =] = won_,_z‘,__, 4l -
AR ERE e E SSENESPT 3
[
. 4-S1 o f *2-S1
— N []
F1
Y, g
0 0
‘ PT1 =
PT1 26 2
0. o1 Qﬁ G1
#52 #% 32 > Specifications BE{iI/UNIT:mm #52 #% 32 > Specifications EE{i/UNIT:mm
R A8 . R A8 .
MODEL A1 B C C1 D DI 4o E1 F F1 F2 G @i H J Ut MODEL A1 B C Cl D DI = F Fi1 F2 G Gi H J
/ SPEC. / SPEC.
F10338 9 1071 140 25 125 125 110 6-M6x1P 65 6-M10x1.5P 6-M8x1.25P 45 110.5 M38x1.5P 33 67.5 E— 8 805 165 25 147 147 130 6MexIP 75 12-MH1Ox15P  6.M8xi25P 65 86 MssxoP 46
F1036S 9 1071 140 25 115 125 100 6-M5x0.8P 65 6-M10x1.5P 6-M8x1.25P 48 1105 M42x1.5P 36 67.5
F1246S 9 1177 165 30 130 147 100 6-M6x1P 80 6-M10x1.5P 6-M8x1.25P 65 117  M55x2P 46 80 PA1452 8 90 183 30 165 165 140 6-M6x1P 80 6-M10x1.5P 6-M8x1.25P 70 935 M60x2P 52
F15528 9 1257 190 30 170 170 130 6-M6x1P 85 12-M10x1.5P 6-M8x1.25P 70 125 M60x2P 52 Of
F18755 11.6 143 215 35 190 196 160 6-M6x1P 125 12-M10x1.5P 6-M10x1.5P 95 143 M85x2P 75 107 PA1775 105 1099 215 35 195 195 160 6-M6x1P 105 12-M10x1.5P 6-M10x1.5P 95 111  M85x2P 75
B 1818 B3t/ 1918
MODEL Kt L1 M N Nt P P1 Q Q1 R1 S S1 T T U MODEL J1 K KI L1 M N N P P Q Qf R1 S S1 T T
/ SPEC. / SPEC.
F10335 38 46 15 35 49 62 70 4 74 A-MSx08P(PCDe83) 6 103 PT1/4 115 6 1581 PA1246 80 40 46 15 50 64 76 8 9 90 4-M5x0.8P(PCD@98) 105 121 PT3/8 120 12
F1036S 38 46 15 38 55 64 73 4 79 4-M5x0.8P(PCDo88) 10 103 PT3/8 115 6  158.1
F1246S 40 46 15 50 64 76 85 4 90 4-M5x0.8P(PCDe98) 105 121 PT1/2 125 6 1642 PA1452 90 40 46 15 55 73 8 96 8 102 4-M6xIP(PCDe110) 105 137 PT3/8 130 12
F1552S 40 46 15 55 73 85 96 4 102 4-M6x1P(PCDe110) 105 137 PT1/2 140 6 1722
F1875S 40 46 15 80 98 108 120 4 126 4-MexIP(PCDo155) 105 165 PT1/2 170 4 1973 PA1775 106 46 46 15 80 98 108 120 9 126 4-Mex1P(PCDo155) 105 165 PT1/2 160 12
AR /3R EE(TE gome aEmg AL AR /3R EE(TE BEEEE  EEEE
MODEL Ui v v W W1 W X1  PistonStroke Z Max.Speed PistonDia  ¢ioi MODEL U Ui v v W W1 W X1 Z  Piston Stroke  Max.Speed Piston Dia
/ SPEC. max. min ma. min (mm) r.p.m.(min"") (mm) (kg-m?) / SPEC. max..mn max. min (mm) r.p.m.(min") (mm)
F1033S 160 10.05 -495 39.8 M39x1.5P 248 37 15 5 8000 105 0.012 ey 120 183 5 11 45 M52x15P 20 198 8 16 8000 108
F1036S 160 10.05 -4.95 438  M44x1.5P 288  41.8 15 5 8000 105 0.012
F1246S 180 10.05 -4.95 4425 M52x1.5P 29.25  49.8 15 5 7000 125 0.019 PA1452 138 201 11 -11 535 Ms8x1.5P 315 558 8 22 6500 145
F1552S 205 17.05 -495 50.15 M58x1.5P 28.15 55.8 22 5 6200 155 0.053 PR - - -
F18755 231 2005 -495 5315  M84x2P 2815 80.8 25 5 4700 180 0.096 e 165 233 ; X SUSEe 25 5500 170
‘ o S EEEW SR () 7 ‘ - o S EEE BAM (D) 77
%ig/ggi% e Re{EAET] Piston Area (cm2) Max. Operating Force FE ikﬂig/géig Moment e Ria{EFRES) Piston Area (cm?2) Max. Operating Force
Oil Leakage Rate Max. Pressure N N . Weight ; Oil Leakage Rate Max. Pressure N . N .
/ SPEC. ([/mign) kgflem*  (MPa) DR tPAL H#E7JBIPush Side  HL/JEIPull Side (kg) / SPEC. O(fklni:tzl)a (F/m?n) kgflem?  (MPa) T3 A7 #IBIPush Side  HI73f8IPull Side
Push Side  Pull Side kgt (kN) kgt (kN) 9 Push Side  Pull Side kaf  (kN) kgf  (kN)
F1033S 3.0 40 3.9) 74 70 2600 (25.5) 2500  (24.5) 8.2 PA1246 0.02 3.0 46 (4.5) 1035 92 4250  (41.6) 3800 (37.5)
F1036S 3.0 40 (3.9) 70 68 2500  (24.5) 2400  (23.5) 8.4
F1246S 3.0 40 (3.9) 100 89 3700 (36.2) 3200 (31.3) 1.5 PA1452 0.035 3.9 46 (4.5) 134 123 5500  (53.9) 5100  (50)
F1552S 3.9 40 (3.9) 160 150 5900 (57.8) 5500  (53.9) 15.4
F1875S 42 40 3.9) 198 183 7200  (70.5) 6700  (65.6) 229 Flalae 0.065 42 46 (4.5) 165 151 6800  (66.7) 6300 (61.8)

e BB ZE -7 : 30kgf/em?(2.94MPa) SR : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

SRER BB ZE -] : 30kgf/cm?(2.94MPa) % : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

14



15

4
D.LARGE THROUGH HOLE 3-JAW HIGH SPEED POWER CHUCKS

XKILEBE=M T

= Z2HEX 2288

= 3ok P ZESHH B DKL

R Y & » Dimensions

e e
T T
== L+ %
E:=: B = =
x = :; = U x = :$ = L A 7°7'30"
O] FEH= L= O] FEH= Ji
- SIIP>lol < - S| >l o] ool <
Q Qe @ Q Q Q el 8 @
>
ELE i ELE 1= e 8
_F\k Ell] £
B ElL E1
B B

#R £% 38 > Specifications BE{iI/UNIT:mm
BT /3848 TSRS c

MODEL Nose Of A B (h6) D E E1 G H J K

/ SPEC. Spindle
OPB-206 Ax-5 170 81 140 82.563 - 20 - PCDg122 52 6-M10x1.5P
OPB-208 A:-6 215 91 170 106.375 -- 22 -- PCDg150 66 6-M12x1.75P
OPB-210 A:-8 256 100 220 139.719 -- 28 -- PCDg180 81 6-M16x2P
OPB-212 Ax-11(A2-8) 315 108 300 196.869 22 33 260 PCDg235 106 6-M20x2.5P
OPB-215 As-15(Ax-11) 405 133 380 285.775 27 41 330.2 PCD@330.2 142 6-M24x3P
OPB-218 Az-15(Ax-11) 455 134 380 285.775 27 41 330.2 PCD@330.2 166.5 6-M24x3P
BT /3R
OPB-206 - 20 36.35 33.6 21.1 9.1 7 -5 31 12 23 2 M60x2P
OPB-208 -- 25 46.6 42.9 26.6 11.6 10 -6 35 14 25 2 M75x2P
OPB-210 - 30 54.6 50.1 33.1 13.6 8.5 -10.5 40 16 25 2 M90x2P
OPB-212 27 30 69.7 64.3 45.6 12.6 8 -15 50 21 28 2 M115x2P
OPB-215 32 43 95.1 89.5 43.55 16.55 8 -15 62 22 42.5 5 M155x2P
OPB-218 32 43 108.29 102.45 55.55 16.55 11.5 -13 62 22 38 5 M180x3P
BT /3RS BILERE HETE miTR2 (Bf) =B SES
MODEL \Y W X Y Thru-Hole Plunger Stroke Jaw Stroke Max.Speed

/ SPEC. [Diameter] (mm) (mm) [Diameter] (mm) r.p.m.(min")
OPB-206 20 37.5 73 104.8 52 12 5.5 6000
OPB-208 30 39.5 80 133.4 66 16 7.4 5000
OPB-210 40 43 110 171.4 81 19 8.8 4200
OPB-212 50 51 129 1714 106 23 10.6 3400
OPB-215 80 66 165 235 142 23 10.6 2500
OPB-218 80 66 165 235 166.5 24.5 11.3 2000

‘ mAHIT] RARRRITS] BRAREHEET] .- faic SIS 50

BT 3R Max. Pull Max. Gripping Max. Hydr. Weiah SHEREL SR o #a
MODEL Force Force Pressure i'g t Matching F;Ipplng

/ SPEC. kgf  (kN) kgf  (kN) kgffcm®  (MPa) (kg) Cylinder ange
OPB-206 2200 (21.5) 5900  (58) 21 (2.0) 12.3 P1452S 213~0170
OPB-208 3400 (33) 8800 (86) 26 (2.5) 21.7 P1666S 050~0215
OPB-210 4300 (42) 11100 (109) 29 (2.8) 33.6 P1881S 034~0254
OPB-212 5600  (55) 14580 (143) 29 (2.8) 57.7 P2110S 050~0315
OPB-215 7240 (71) 18250 (179) 26 (2.5) 1225 P2916 060~0405
OPB-218 7240 (71) 18250 (179) 26 (2.5) 165 P2916 280~0455

RILE_M
A3SLEPAM
e 3R CH ZE5H B 22 TR

R < B > Dimensions

NEW

9 w w
R R
T T
LI [l
| | |
x| B j =|= B j @3
45° 45° ol 2H ol 2H =
30° / R ‘ ) 0° /é | @\ -
J |- sl | HSHIP S5 0| < -
O-{{H @ {09 1i{ 09 u °93 :
30 | 0 o) e . §L ! §L§ Y
g g 77‘{77% 77%77%
—
¥ \
F\K | F\K
OPBT & OPBF & B g WE
#2 1& € > Specifications EE{T/UNIT:mm
BT /38148 TSRS o
MODEL Nose Of A B (h6) D E F G J
/ SPEC. Spindle
OPBT-206 As-5 170 81 140 82.563 20 5 PCDg@104.8 PCDg122 52
OPBT-208 A:-6 215 9N 170 106.375 22 5 PCDg133.4 PCDg150 66
OPBT-210 A:-8 256 100 220 139.719 28 5 PCDg171.4 PCDg180 81
OPBF-206 A:-5 170 81 140 82.563 20 5 PCDg104.8 PCDg122 52
OPBF-208 A:-6 215 91 170 106.375 22 5 PCDg@133.4 PCDg150 66
OPBF-210 A--8 256 100 220 139.719 28 5 PCDg171.4 PCDg180 81
BT /3818
OPBT-206 6-M10x1.5P 20 36.35 33.6 21.1 9.1 7 -5 31 12 23
OPBT-208 6-M12x1.75P 25 46.6 42.9 26.6 11.6 10 -6 35 14 25
OPBT-210 6-M16x2P 30 54.6 50.1 33.1 13.6 8.5 -10.5 40 16 25
OPBF-206 4-M10x1.5P 20 36.35 33.6 21.1 9.1 7 -5 31 12 23
OPBF-208 4-M12x1.75P 25 46.6 42.9 26.6 11.6 10 -6 35 14 25
OPBF-210 4-M16x2P 30 54.6 50.1 33.1 13.6 8.5 -10.5 40 16 25
BT /3RS EILERE HETRE miT#2 (BE)
MODEL T U \Y W X Thru-Hole Plunger Stroke Jaw Stroke
/ SPEC. [Diameter] (mm) (mm) [Diameter] (mm)
OPBT-206 2 M60x2P 20 375 73 52 12 5.5
OPBT-208 2 M75x2P 30 39.5 80 66 16 7.4
OPBT-210 2 M90x2P 40 43 110 81 19 8.8
OPBF-206 2 M60x2P 20 37.5 73 52 12 55
OPBF-208 2 M75x2P 30 39.5 80 66 16 7.4
OPBF-210 2 M9O0x2P 40 43 110 81 19 8.8
. == BRANLD BRARREEN BRAEHEET] faic FeiS 50
BT 3R fﬂiﬁg j *a Max. Pull Max. Gripping Max. Hydr. e i ik A #a
MODEL ax.opeec Force Force Pressure Matching F;Ipplng
/ SPEC. r-p-m. (min") kgt (kN) kgt (kN) kgflem?  (MPa) Cylinder ange
OPBT-206 6000 1550 (15) 3950 (38.5) 15 (1.4) P14528 013~g170
OPBT-208 5000 2050  (22) 5850  (57) 17 (1.6) P1666S 050~0215
OPBT-210 4200 2900  (28) 7400 (72.5) 19.5 (1.9) P1881S 034~0254
OPBF-206 4500 1700 (16.5) 4400 (42.5) 16 (1.5) P1452S 022~0170
OPBF-208 3600 2500 (24.5) 6450 (63) 19 (1.8) P1666S 050~0215
OPBF-210 3200 3200 (31) 8200  (80) 215 (2.1) P1881S 032~0254

OPBF OPB LARGE THROUGH HOLE HIGH SPEED POWER CHUCKS

16



1588 - SE8K - EENEEES » EENEIDER

LARGE THROUGH HOLE THIN HOLLOW ROTARY HYDRAULIC

RILEFE
28 5H BRSO 655 T

1t EEETEENT - OlRESEmEE -

2. KEVEESLE « RIVEEREHEN T E@3LEaVEE=E0 -
3. Z= 18IS « NRLLCIREERET - FRZEsE 2 BRI O RIFHEDD -

R < B > Dimensions

CYLINDERS

NEW

' MZRSiES/)\EY

R SHERZZEH

R < B > Dimensions

CI. CI.T SOLID POWER CHUCKS

17

w u \Z/ o 1.Thin & Lightweight:
eE1 |1 Al £ - Thin outer structure makes the weight w_. P s - P s
w1 — lighter than the traditional rotary cylinders; — (cﬁ))s) - W(L_F_’()W
i LN} meanwhile, the compactness and miniaturization m3=icY T l%
lower the burden of machines. xi THS | |EF > E'— THis | Efkrg
g%%_‘; Q%—»_. % 2.Large Thru-hole Diameter: z H, — = j‘l =
With large open center, gripping range of Bar 3l A1 {1 - \— 3 FEI B {Im
stock can be increased. T E U T E . q |} > T
an 3.Built-in Check Valve: “L e %ré “‘J_ e L%—l gré L_g“j Q\
With built-in " check valve", work pieces can be K
effectively prevented from flying out during SFEPN\Tk Fl | K _]J
abrupt failure of pressure. E E|||L E#
B L E1
CLT & CLE (CL-05) B_|
#82 #% 32 > Specifications BSfiI/UNIT:mm #5215 32 > Specifications BEfiI/UNIT:mm
: B AR FESImEE
AT /4818 o)
E MODEL Nose Of A B D E E1 F G H J K L M
|>/|SOF|?EECL A1 B1 C C1 D D1 ") E1 F F1 F2 G G1 H / SPEC. Spindle (h6)

' CL-05 A4 135 55 80 63.513 - - 7 - 100 - 3-M8x1.25P 14 14
P1452S 9 1092 180 30 165 165 140 MéxiP 85  6-M10x1.5P  6-M8x1.25P 70 113.9 M60x2P CL-06 A5 165 74 140  82.563 15 -~ 5 116 1048 21 6-M10x1.5P 19 20
P1666S 9 1207 209 35 190 190 168 MéxiP 95 12-M12x1.75P 6-M10x1.5P 85 1254 M75x2P CL-08 A=-6(A:-5) 210 85 170 106375 17 23 5 150  133.4 25 6-M12x1.75P 18 25
P1881S 107 1337 222 35 205 205 168 M6xIP 110 12-M12x1.75P 6-M10x1.5P 100 139.2 M9Ox2P 00 A-8(A-6) 254 8 220 139719 18 28 5 190 1714 34 E-Mi6x2P 25 30

CL-12 A8 304 106 220 139719 18 - 6 190 1714 34 6-M16x2P 20 30
P2110S 12 1522 266 35 240 240 200 Méx1P 135 12-M12x1.75P 6-M12x1.75P 125 1585 M115x2P CLT-06 AsB 165 74 140 82563 15 - 5 116 1048 21 6-M10x1 5P 19 20
A 948 CLT-08 A-6(A-5) 210 85 170  106.375 17 23 5 150  133.4 25 6-M12x1.75P 18 25
= =)
MODEL HA J J1 K Ki L1 M N N1 P P1 Q Qi R1 S S T T CLT-10 A-8(A-6) 254 89 220 139719 18 28 5 190 1714 34 6-M16x2P 25 30
/ SPEC. CLT-12 A8 304 106 220 139.719 18 -- 6 190 171.4 34 6-M16x2P 20 30
P1452S 120 52 83 40 46 15 55 73 85 96 4 102 M6éxiP 105 137 PT1/2 130 4 B [ N N 0 0 P P
: MODEL max. min. max. min. max. min. Q R S T u v W X Y
P1666S 145 66 99 40 46 15 70 88 100 111 4 117 MéxiP 105 161 PT1/2 150 5 / SPEC.
P1881S 166 81 1075 40 46 15 85 103 113 126 4 132 MeéxiP 105 176 PT1/2 175 5 L 804 272 171 96 9 6 25 108 2 Mii7sP 28 81 62 -
CL-06 378 3325 151 91 1015 815 31 12 36 4 M16x2P 34 39 73 -
P2110S 201 106 125 40 46 15 110 133 145 160 4 166 MéxiP 105 210 PT1/2 200 5 CL-08 463 419 221 10.1 127 106 3B 14 % 5 M20x2 5P 38 42 95 1048
T s . - CL-10 51.4 47 30.6 9.6 158 133 40 16 3 5 M20x2.5P 45 46 110 1334
AU /38 EETIE EoOEE  EEEE
Mfg/DEi% U U1 v \ w W1 W X1 7  Piston Stroke  Max.Speed  Piston Dia CL-12 60.63 55.32 4855 20.05 163 133 50 18 3 5 M20x2.5P 50 54 129 -
/ SPEC. max. min max. min (mm) r.p.m.(min") (mm) CLT-06 37.8 3325 151 9.1 1015 815 31 12 36 4 M16x2P 34 39 73 -
CLT-08 463 419 221 10.1 127 106 3 14 3 5 M20x2.5P 38 42 95 104.8
P1452S 1557 201 17 -3 48.2 M58x1.5P 282  55.8 5 20 6500 145 CLT-10 51.4 47 30.6 9.6 158 133 40 16 3 5 M20x2.5P 45 46 110 133.4
i \ . mFie o . = osnar BASRE - e N
P1881S  189.2 240 21.1 3.9 53.2 M89x2P 282 858 5 25 4800 180 RITE /B8 %?._:mf (B = EEE fg,&%ﬂ nﬁ%ﬁﬁﬁ% SHEES sE o E%Eﬁliﬂ%u?fﬁ RISEE
P2110S 2167 284 19 11 582  M118x2P 282 1148 5 30 3500 210 MODEL  '(tI®7  Jaw Stroke  Max.Speed Force Force Max. Hydr.  Weight — “\-roF Gripping
/SPEC. troke  piameter]  r.p.m.(min") Pressure (kg) cning Range
. . B (mm) (mm) kgf  (kN) kgf (kN) kgflcm® (MPa) Cylinder
) IEMERET o - SEEEE RAHE (RI) 73 .
iﬁﬂ%@gﬁ Moment e maEMEET] Piston Area (cm2) Max. Operating Force BE CL-05 15 6.4 5500 800 (7.8) 2450 (24) 25 (2.5 6 L0815 08~0135
of Inertia  Oil Leakage Rate Max. Pressure . , N , Weight CL-06 20 8.5 5000 1730 (17) 5200 (51) 25 (25) 11.4  L1020(L1020R) 018~0165
2' H 2 E E E E
/SPEC. (kg-m?) (£/min) kgflem®  (MPa) Pfr?jsi'fge pi“ujéﬁje }Eggupus&%de Mkjgfi‘”':“'('kﬂ?e (kg) CL-08 21 8.8 4600 2440 (24) 7440 (73) 25  (25) 219  L1225(L1225R)  012~0210
CL-10 25 8.8 4000 2850 (28) 10810 (106) 29  (2.8) 334 L1225(L1225R)  016~0254
P1452S 0.035 3.9 40 (3.9) 137 126 4860 (47.6) 4464  (43.7) 12.3 CL-12 30 10.5 3200 4080 (40) 15500 (152) 29 (28) 585 L1530(L1530R) ©18~0304
P1666S 0.07 2 40 (3.9) 170 157 6048  (59.3) 5580 (54.7) 174 CLT-06 20 8.5 5000 1220 (12) 3460 (34) 17 (1.7) 111 L1020(L1020R)  ©9~0165
CLT-08 21 8.8 4000 1630 (16) 4990  (49) 16 (1.6) 213  L1225(L1225R) 0©12~0210
P1881S 0.09 4.3 40 (3.9) 191 175 6804 (66.7) 6264 (61.4) 21.9 CLT-10 25 8.8 3500 1930 (19) 7140 (70) 19 (1.9) 326 L1225(L1225R) 015~0254
P2110S 0.20 6.0 35 (3.4) 232 223.5 6900 (67.6) 6650 (65.2) 35.8 CLT-12 30 10.5 3000 2750 (27) 10300 (101) 20 (20) 57.0 L1530(L1530R)  ©20~0304

TEBIEZHE-E /) : 30kgf/cm?(2.94MPa) Hif : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C




= /P& ;HERZZEH

BLEEERAAEHE T LARS LES8 /B EAASREIED -
Dustproof patent structure can prevent the metal
chips get into chuck inside.

R < B > Dimensions

C l.' D P 3-JAW SOLID CHUCK WITH ANTI-CHIPS SEALED

Y EEFHPECHERZZE

(SERER)

1. B EEER S LIRS LSS E A BEAED
2 BRI ERETO AR R H R EE N BRI B8

HBERIBER
3. BRKERAEIBERST - BOLLLIBRGE A EEAIER ©

R < B > Dimensions

VI.' D P 3-JAW SOLID CHUCK WITH ANTI-CHIPS SEALED &
WATER-PROOF FLANGE PLATE FOR
VERTICAL LATHE

w w
1T RS 1T S
CEHH 5
=S =7 EH
P e < =
EAT S O B
- | . -
B a9 =0ELE
I E3.5) T \
© u °© u
- o e kS
E?' e 7°7'30 J
_IF \K Ell | K
B E| F : K
& L
R #% 38 > Specifications B /UNIT:mm
B /R FEHSREBR c
MODEL Nose Of A B (h6) D E G H K L M
/ SPEC. Spindle
CL-12DP A:-8 304 110 220 139.719 18 6 190 171.4 6-M16x2P 20 30
CL-15DP A=-11 381 118 300 196.869 22 6 260 235 6-M20x2.5P 32 43
CL-18DP Ae-11 450 118 300 196.869 22 6 260 235 6-M20x2.5P 32 43
CL-21DP Ae-15(Ax-11) 530 129 380 285.775 27 6 330.2 330.2 6-M24x3P 33 60
CL-24DP As-15(Ax-11) 610 129 380 285.775 27 6 330.2 330.2 6-M24x3P 33 60
CL-32DP As-15(Ax-11) 800 129 380 285.775 27 6 330.2 330.2 6-M24x3P 33 60
CL-40DP As-15(Ax-11) 1000 129 380 285.775 27 6 330.2 330.2 6-M24x3P 33 60
BT\ /7818
N N (0] O P P
')ASEE% max. min. max. min. max. min. Q R S T u v W X Y
CL-12DP 60.63 55.32 48.55 20.05 163 133 50 18 36 5 M20x2.5P 50 54 129 -
CL-15DP 69.05 60.97 58.05 40.05 104 69 62 25.5 55 7 M30x3.5P 60 68 165
CL-18DP 99.46 91.38 58.05 40.05 92 57 62 25.5 55 7 M30x3.5P 60 68 165 --
CL-21DP 80.49 72.41 101.8 41.8 96.95 61.95 65 25 55 7 M30x3.5P 60 755 180 235
CL-24DP 11949 11141 101.8 41.8 96.95 61.95 65 25 55 7 M30x3.5P 60 755 180 235
CL-32DP 11949 11139 197.8 41.8 97 61.95 65 25 55 7 M30x3.5P 60 755 180 235
CL-40DP 119.49 111.39 299.8 41.8 97 62 65 25 55 7 M30x3.5P 60 755 180 235
e TR - R BARE B -
wo g GEOE (EE)  SEEEE g mn e opmen 0 #E o RRL gumm
i) Plunger Jaw Stroke Max.Soeed Max. Pull Max. Gripping Max. Hvd Weight JEIBREL 2256 T
.Spee ax. nydr. g Gr|pp|ng
')’ISEE% Stroke  [Diameter] r.p.m.(min") | ¢ ForCEN kaf ForcekN Pressure (kg) I\éa}_crgng Range
2 (mm) (mm) g (kN) g (kN) kgflcm?  (MPa) ylinder
CL-12DP 30 10.5 3200 4080 (40) 15500 (152) 29 (2.8 64.4 L1530(L1530RE) 018~0304
CL-15DP 35 16 3000 8260 (81) 25290 (248) 32 (3.1 104.1 L2035(L2035RE) 068~2381
CL-18DP 35 16 2700 8260 (81) 25290 (248) 32 (3.1 138.5 L2035(L2035RE) ©100~2450
CL-21DP 35 16 1900 8650 (85) 27000 65) 33 (3.2 204.8 L2035(L2035RE) ©80~8530
CL-24DP 35 16 1700 8650 (85) 27000 65) 33 (3.2 260 L2035(L2035RE) ©155~2610
CL-32DP 35 16 1100 8650 (85) 27000 (265) 33 (3.2 455.4  L2035(L2035RE) ©155~2800
CL-40DP 35 16 800 8650 (85) 27000 65) 33 (3.2 -- L2035(L2035RE) ©155~01000

W s
s | l 1.Dustproof patent structure can
< prevent the metal chips get into
chuck inside.
alol o)< 2.The clean hole design can blow air
) S— [SIESIESUNSIESIRS] . .
E3 1) \W into chuck internal to clean out the
residual chips and coolant.
Tl = 3.The drainage plate structure design
\K can prevent the coolant get into
[ spindle internal.
E
#2 #% 38 > Specifications BEfi/UNIT:mm
B RS TESiEER
MODEL Nose Of A B E E1 G H K L M
/ SPEC. Spindle
VL-12DP A--8(A=-6) 304 110 139.719 38 38 190 171.4 6-M16x2P 20 30
VL-15DP Ax-11(A2-8) 381 118 196.869 54 54 260 235 6-M20x2.5P 30 43
VL-18DP Az-11(A2-8) 450 118 196.869 48 48 260 235 6-M20x2.5P 26 43
VL-21DP Ax-15(A=-11) 530 129 285.775 55 50 330.2 330.2 6-M24x3P 36 60
VL-24DP Ax-15(A--11) 610 129 285.775 55 50 330.2 330.2 6-M24x3P 36 60
VL-32DP Ae-15(A=-11) 800 129 285.775 55 50 330.2 330.2 6-M24x3P 36 60
BT /3818
N N (0] P P
'}ASOFPE% max. min. max. max. min. Q S u v W X Y
VL-12DP 60.63 55.32 48.55 20.05 183 153 50 18 36 5 M20x2.5P 50 54 129 133.4
VL-15DP 69.05 60.97 58.05 40.05 136 101 62 25.5 55 7 M30x3.5P 60 68 165 171.4
VL-18DP 99.46 91.38 58.05 40.05 130 96 62 25.5 55 7 M30x3.5P 60 68 165 171.4
VL-21DP 80.49 72.41 101.8 132 97 65 25 55 7 M30x3.5P 60 75.5 180 235
VL-24DP 119.49 111.41 101.8 132 97 65 25 55 7 M30x3.5P 60 75.5 180 235
VL-32DP 119.49 111.39 197.8 132 97 65 25 55 7 M30x3.5P 60 75.5 180 235
HETE (UE pmoms B AR BT 58
B /3RS e (Ef) ESOEE I\/Tax Pull Miax Grippin ) :Bﬂﬁcﬁllm‘?ﬁ RIFECE
MODEL Plunger  jaw Stroke Max.Speed : - arpping Max. Hydr. PSS 2= 30 Gripping
/SPEC Stroke [Diameter] r.p.m.(min") Force Pressure Matching rippin
° (mm) (mm) P kgf (kN) kgf kgflem®  (MPa) Cylinder 9
VL-12DP 30 10.5 3200 4080 40) 15500 29 (2.8) L1530(L1530RE) 018~0304
VL-15DP 35 16 3000 8260 81) 25290 32 (3.1) L2035(L2035RE) ©068~2381
VL-18DP 35 16 2700 8260 81) 25290 32 (3.1) L2035(L2035RE) ©100~0450
VL-21DP 35 16 1900 8650 85) 27000 33 (3.2) L2035(L2035RE) ©80~0530
VL-24DP 35 16 1700 8650 85) 27000 33 (3.2) L2035(L2035RE) ©155~0610
VL-32DP 35 16 1100 8650 85) 27000 33 (3.2) L2035(L2035RE) ©155~0800



PZEERI1TIE
sHER DT

R < B > Dimensions

EI. EI_ CRANK TYPE LONG JAW STROKE HOLLOW POWER CHUCKS

' leuit Back powER cruCKs
NI\ HEEIRER

BAITUHBRIRERFE O 2R FF R R 0241 » TIHAE

R SR{FRIN0T -

1R TVREFG THRANEEERE L > B2RFIEE - BHIREUH -

2. BrEEBIEHE - I REMER - WEREERIHERERE -

3. EENBERINRIEDREF THN EFEIE - ERRERELN
I&8H -

4. OFEARINEE - EESE8LRIRE ©

B C)aE)iS T

R < B > Dimensions

Pull back feature of radial gripping will lead to
almost no work piece uplifting displacement;
CHANDOX Pull Back Power Chucks are ideal
for machining casting and forging parts;

1. By appressing the gripped work piece to the
surface, CHANDOX Pull Back Power Chucks
are suitable for heavy machining.

2. Chuck Actuators with cylindrical structure are
durable and ensures high gripping repeatability.

3. Accurate self-centering and pull back features
are adequate for precise length control
machining requirements.

. Optional components can be selected for

detecting the right position on an automated

loading machine.

w
-‘F
= =T
x
of 5 c:ém-
s/ [ * I | /
E[%g — 3 2189
T =
300 —
& ~U
L > T
—— 3 B T ﬂ @}
K
F K F F|
B Bl e[ L [ E
B B |
#2 #8& & > Specifications EEfiI/UNIT:mm
BUT /AR FHEiRETR
MODEL Nose Of A B C D E E1 F G H 11 H1
/ SPEC. Spindle
EL-06 A2-5 178 87 140 82.563 15 -- 5 116 104.8 3-M8x1.25P PCDg@160
EL-08 A2-6(A2-5) 220 100 170 106.375 17 23 5 150 133.4 3-M8x1.25P PCDg190
EL-10 A2-8(A2-6) 265 113 220 139.719 18 28 5 190 171.4 3-M12x1.75P PCD@230
ELT-06 A2-5 178 87 140 82.563 15 -- 5 116 104.8 6-M8x1.25P PCDg145
ELT-08 A2-6(A2-5) 220 100 170 106.375 17 23 5 150 133.4 6-M8x1.25P PCDg@180
ELT-10 A2-8(A2-6) 265 113 220 139.719 18 28 5 190 171.4 6-M12x1.75P PCD@230
BUTL /354 N N o o P
'ylgFPEECL 12 H2 J K L M max. min. max. min. max.
EL-06 3-M8x1.25P PCDg120 34 6-M10x1.5P 15.85 20 50.13 38.03 19.55 10.55 15.95
EL-08 3-M8x1.25P PCDg@140 42 6-M12x1.75P 18.85 25 61 44 .96 20.55 11.55 19.95
EL-10 3-M12x1.75P PCDg180 66 6-M16x2P 21.85 30 78.16 59.37 24.55 11.05 13.45
ELT-06 -- -- 34 6-M10x1.5P 15.85 20 50.13 38.03 19.55 10.55 15.95
ELT-08 -- -- 42 6-M12x1.75P 18.85 25 61 44.96 20.55 11.55 19.95
ELT-10 -- -- 66 6-M16x2P 21.85 30 78.16 59.37 24.55 11.55 13.45
BUTE /3R PEE=EEY EEITE
MODEL P Q R S T U \ w X Y Thru-Hole Plunger Stroke
/ SPEC. min. [Diameter] (mm) (mm)
EL-06 0.95 31 12 15 2 M55x2P 20 37.5 73 - 34 15
EL-08 -0.05 35 14 16.5 2 M60x2P 30 39.5 95 104.8 42 20
EL-10 -11.55 40 16 20 2 M85x2P 40 43 110 133.4 66 25
ELT-06 0.95 31 12 15 2 M55x2P 20 37.5 73 - 34 15
ELT-08 -0.05 35 14 16.5 2 M60x2P 30 39.5 95 104.8 42 20
ELT-10 -11.55 40 16 20 2 M85x2P 40 43 110 133.4 66 25
. P - [ B AL SUNDSE B A a5 HIEEEE ) & -
mIme MR (BE) 0 mELEE  gooLs  BARRE) ROBTEEED B e ssim
Max. Pull Max. Gripping Max. Hydr. SHERTI RS T
MODEL Jaw Stroke Max.Speed F E P Matchi Gripping
/SPEC. [Diameter] (mm) £ p.m.(min) orce orce ressure atching Range
-p-m- kgf  (kN) kgf  (kN) kgflem®*  (MPa) Cylinder
EL-06 24 3200 2375 (23.2) 2670 (26) 29 (2.8) P1246 025~0178
EL-08 32 2800 3612 (35.4) 3900 (38.2) 28 (2.7) P1552 030~0220
EL-10 37.5 2400 4941 (48.4) 5586 (54.7) 30 (2.9) P1875 045~0265
ELT-06 24 3200 1600 (15.7) 1790 (17.6) 19.5 (1.9) P1246 025~0178
ELT-08 32 2800 2322  (22.7) 2600 (25.5) 18 (1.8) P1552 030~0220
ELT-10 37.5 2400 3294 (32.3) 3724 (36.5) 20 (2.0) P1875 045~0265

21

#8215 32 > Specifications BEfiI/UNIT:mm
BT /RS
MODEL A B c D E F G G H J J
/SPEC max. min. max. min.
PL-06 169 83 140 82.563 15 5 15 5 70 46 36
PL-08 210 97 170 106.375 17 5 16.5 6.5 84 57 47
PL-10 254 110 220 139.719 18 5 22 6 100 68 52
PL-12 304 125 220 139.719 18 5 21.5 55 120 72.5 56.5
BTV /RS
MODEL < L i m  m s Q@ R
PL-06 -- 6-M10x1.5P 14 104.8 56.65 54 33 23 35 32
PL-08 26 6-M12x1.75P 17 133.4 69.65 67 38 28 40 38
PL-10 32 6-M16x2P 24 171.4 87.8 82 48 32 50 50
PL-12 36 6-M16x2P 20 171.4 102.8 97 47 31 60 52
BTV /RRAS HETRE MiTREERE RaEER AL
MODEL S u Plunger Stroke Jaw Stroke Max.Speed Max. Pull Force
/ SPEC. (mm) (Diameter) mm r.p.m.(min") kgt (kN)
PL-06 36 M16x2P 10 5.3 3500 1420 (14)
PL-08 36 M20x2.5P 10 5.3 3000 2240 (22)
PL-10 46 M24x3P 16 11.6 2500 3160 (31)
PL-12 50 M27x3P 16 11.6 2000 4480 (44)
BT /3818 RARRIES RARTHEEN PE BB BRI RS RIFEE
MODEL Max. Gripping Force Max. Hydr. Pressure Weight Matching Gripping
/ SPEC. kgf (kN) kgficm?  (MPa) (kg) Cylinder Range
PL-06 2950 (29) 2 (22 15.4 L1020 035~0160
PL-08 4890 (48) 2 (22 27.8 L1225 040~0210
PL-10 4990 (49) 30 (2.9 45.9 L1225 050~0254
PL-12 7240 (71) 30 (29 75.7 L1530 050~0304

22



D
- SOLID ROTARY HYDRAULIC CYLINDERS (BUILT-IN CHECK VALVE)
CPESHBROESEL (MYIEEsEE)

1. EE D ERI RS

BRENEARE » OJLUBDEmERN TS REERE
2. /S

A LECIFRERET - 1R2E58 2 BIFFRHO I RITHETD -

SOLID ROTARY HYDRAULIC CYLINDERS
P& 5H B OIS

o

R < B > Dimensions

R Y B > Dimensions

L - M 5P K P 1.Super thin structure:
10 N L M g Super thin outer structure reduces the
SETHE — 2-PT3/8" 10 N interference with machines and lowers the
— A'lmjj AIE burden of machines.
Bif ; B772 | 2.Built-in Check Valve:
|‘_" I‘—' With built-in "check valve", work pieces can be
Il e o) wl ale effectively prevented from flying out during
| [T 8 = = =8 & I I ’
= abrupt failure of pressure.
A\
R Q R
#R & & > Specifications EBS{iI/UNIT:mm #2 1% & > Specifications EEA7/UNIT:mm
BT /RS Cilbawt s
E G i) &
MODEL A B c D F H J K L E G K L
/SPEC. (h7) (H8) MODEL A B C D (h7) F (H8) H J
/ SPEC.
L0815 75 15 115 90 65 30 21 M20x2.5P 35 137 72
L1020R 105 20 135 100 80 30 21 M20x2.5P 35 172 86
L1020 105 20 135 100 80 30 21 M20x2.5P 35 155 72
L1225R 125 25 160 130 110 35 25 M24x3P 45 180 86
L1225 125 25 160 130 110 35 25 M24x3P 45 163 72
L1530 150 30 190 130 110 45 31 M30x3.5P 45 173 70 L1530R 150 30 190 130 110 45 31 M30x3.5P 45 189 84
L2035 200 35 245 145 120 55 37 M36x4P 60 191.5 72 L2035R 200 35 245 145 120 55 37 M36x4P 60 206.5 83
RIS /3845 EETE SEOEE 1B1E7E] AU S I BT
MODEL M N P P Q R Piston Stroke Max. Speed Moment B e M N P P q R L SEUE SEEEE Moment
/ SPEC. max. min. (mm) r.p.m (min‘) of Inertia max. min. Iston Stroke ax. opee of Inertia
P (kg-m?) / SPEC. (mm) r.p.m (min") (kg-m?)
L0815 65 97 46 31 6-M8x1.25P 102 15 6000 0.006
L1020R 86 132 45 25 6-M10x1.5P 137 20 6000 0.013
L1020 83 115 45 25 6-M10x1.5P 120 20 5500 0.013
L1225R 94 140 51 26 6-M12x1.75P 145 25 6000 0.023
L1225 91 123 51 26 6-M12x1.75P 128 25 5500 0.023
L1530 101 133 56 26 12-M12x1.75P 138 30 4000 0.048 L1530R 105 149 56 26 12-M12x1.75P 154 30 5500 0.048
L2035 119.5 151.5 69 34 12-M16x2P 156.5 35 4000 0.098 L2035R 1238.5 166.5 69 34 12-M16x2P 171.5 35 5500 0.098
: e - ERER it 1 TR BT
WREE RE EE(EHE] Piston Area (cm?) prperaing Force PE R 1518 i EE(EHE Piston Area ( cm? ) Max, Operaling Force 2
MODEL Oil Leakage Rate Max. Pressure - = /]I Weight o) i Max. P . HEIEI RIAEI i
HESA) WAL Push Sid PuUl Sid MODEL Oil Leakage Rate ax. Pressure : ; Weight
/SPEC. (£/min) kgf/cm? (MPa) H i ush Side ull Side (kg) /SPEC 2imi Kaf / cm? (MPa) Ei: A=l A7 Push Side Pull Side (kg)
Push Side Pull Side kgf (kN) kgf (kN) . (¢/min) g Push Side Pull Side kgf (kN) kgf  (kN)
L0815 0.8 40 (3.9) 44 37 1600 (15.7) 1400 (13.7) 42
L1020R 0.8 40 (3.9) 86 79 3100 (30.4) 2900 (28.4) 6.6
L1020 0.8 40 (3.9) 86 79 3100 (30.4) 2900 (28.4) 59
L1225R 0.8 40 (3.9) 122 113 4500 (44.1) 4100 (40.2) 8.8
L1225 0.8 40 (3.9) 122 113 4500 (44.1) 4100 (40.2) 8.1
L1530 0.8 40 (3.9) 176 160 6300 (61.8) 6000 (58.8) 119 L1530R 0.8 40 (3.9) 176 160 6300 (61.8) 6000 (58.8) 12.8
L2035 0.8 40 (3.9) 314 290 11300 (110.8) 10400 (102.0) 21.4 L2035R 0.8 40 (3.9) 314 290 11300 (110.8) 10400 (102.0) 22.5
B IZ%E- B /] : 30kgf/cm?(2.94MPa) B : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C e BIGIZE B /] : 30kgf/cm?(2.94MPa) sHiif : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

23



I-' SOLID ROTARY HYDRAULIC CYLINDERS (BUILT-IN CHECK VALVE & SENSOR)

CRESHER B 85§ P ESHE O S G (S 1503 E)
CPBi L 59 e B X0 3 ) o , SESREY Air Connection

5F7KAY Coolant Connection

SOLID ROTARY HYDRAULIC CYLINDERS
(BUILT-IN CHECK VALVE)

5t ¢ AT IERAREAR RIIRMIG

R Y B > Dimensions S R .
= Note: Proximity switch is an extra option.

R < B > Dimensions

© K P
< M 5 L K P
p N 0 M 0 M
§; N 5 N 5
£+ ATSE T _| 75 2-PT3/8" AP S
B:7#2 J B:{T1E | BiTE .
5 A&
= . | —1 + N mik! f i o‘u. WO
| ~ i | IREEEE
ﬁ Olu|w oo Lr \% H
Q| 9l 9l g @ .h ||
H GE‘, ° =
2-g3; I PT1/4) R \Q
1/4" L
Kz \a L
R
#82 #% 38 > Specifications EEfiI/UNIT:mm #3218 & > Specifications EBEfi/UNIT:mm
AU /3948 e G AU /3948 E G
MODEL A B C D (h7) F (H8) H MODEL A B C D (h7) F (H8) H
/ SPEC. / SPEC.
L1020RE 105 20 135 100 80 30 21 M20x2.5P L1020RA 105 20 135 100 80 30 21 M20x2.5P
L1225RA 125 25 160 130 110 35 25 M24x3P
L1225RE 125 25 160 130 110 35 25 M24x3P L1530RA 150 30 190 130 110 45 32 M30x3.5P
L1530RE 150 30 190 130 110 45 31 M30x3.5P L1020RC 105 20 135 100 80 30 21 M20x2.5P
L1225RC 125 25 160 130 110 35 25 M24x3P
L2035RE 200 35 245 145 120 55 7 M36x4P L1530RC 150 30 190 130 110 45 32 M30x3.5P
AU /IR B /HRAS b b
MODEL J K L M N P P MODEL J K L M N o o Q
/ SPEC. max. min. / SPEC. ' '
L1020RE 35 2315 1455 86 132 45 o5 L1020RA 35 208 193.5 132 86 45 25 6-M10x1.5P
L1225RA 45 216 201.5 140 94 51 26 6-M12x1.75P
L1225RE 45 239.5 145.5 94 140 51 26 L1530RA 45 225 210.5 149 105 56 26 12-M12x1.75P
L1530RE 45 248 5 143.5 105 149 56 26 L1020RC 35 215.5 177.1 132 86 45 25 6-M10x1.5P
L1225RC 45 2235 185.1 140 94 51 26 6-M12x1.75P
L2035RE 60 266 142.5 123.5 166.5 69 34 L1530RC 45 2325 194.1 149 105 56 26 12-M12x1.75P
R /81 EEGE EEDHE A8l o Rz /181 TR BEDER sl o EEEHE
MODEL Q R T Piston Stroke Max. Speed : 9 MODEL R T Piston Stroke Max. Speed h 9 Max. Pressure
/ SPEC. (mm) £p.m (min”) of Inertia Rate / SPEC. (mm) £p.m (min”) of Inertia Rate kgflcm? (MPa)
i (kg-m?) (£/min) i (kg-m?) (&/min)
L1020RE 6-M10x1.5P 137 46 20 6000 0.013 0.8 S 187 178 20 6000 0.013 1.2 40 (8.9)
L1225RA 145 186 25 6000 0.023 1.2 40 (3.9)
L1225RE 6-M12x1.75P 145 46 25 6000 0.023 0.8 L1530RA 154 195 30 5500 0.048 1.2 40 (3.9)
L1530RE  12-M12x1.75P 154 46 30 5500 0.048 0.8 L1020RC 137 181.4 20 6000 0.013 1.2 40 (3.9)
L1225RC 145 189.4 25 6000 0.023 1.2 40 (3.9)
L2035RE 12-M16x2P 171.5 46 35 5500 0.098 0.8 L1530RC 154 198.4 30 5500 0.048 1.2 40 (3.9)
N = RAHEMGD N = RAHEGD =7 S Sl | = (e
BUT /ARAE BSERED pi ’Ei/_\g i 2 Max. iOperating Force PE AU /44 Pi ’E%EE 2 Max. ;LOperating Force AR ERERE) KA ERE)
MODEL iston Area (cm?) 2 . iston Area (cm?) " Air connection Coolant connection
Max. Pressure - I RT3l Weight MODEL " HETIHEN RI7348
/ SPEC Kaf/em? MPa 78 AL Push Side Pull Side (k) / SPEC ) H7)8 Push Side Pull Side Max. Pressure Max. Pressure
: g (MPa) Push Side Pull Side kgt (kN) kgt (kN) : Push Side Pull Side kgt (kN) kgt (kN) kgtiem®  (MPa) kgfcm?  (MPa)
L1020RE 40 (3.9) 84 79 3000 (29.4) 2900 (28.4) - EI020RA 85 79 3100 (304) 3000 (29.4) 8 (0.8) . -
L1225RA 121 113 4400 (43.1) 4200 (41.2) 8 (0.8) - -
L1225RE 40 (3.9) 120 113 4400 (43.1) 4100 (40.2) 9.7 L1530RA 175 160 6300 (61.8) 6000 (58.8) 8 (0.8) -- --
L1530RE 40 (3.9) 174 160 6200 (60.8) 5700 (55.9) 13.7 L1020RC 85 79 3100 (30.4) 3000 (29.4) - - 10 (1.0)
L1225RC 121 113 4400 (43.1) 4200 (41.2) - - 10 (1.0)
L2035RE 40 (3.9) 312 290 11200 (109.8) 10400 (102.0) 233 L1530RC 175 160 6300 (61.8) 6000 (58.8) - - 10 (1.0)
e BIGZHE-EE ] : 30kgf/cm?(2.94MPa) sHiiR : 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C e BIEUZE-EE /) : 30kgf/cm?(2.94MPa) s#iR: 50°C  * Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

25



27

8 5E B P B H BR B #R T
(B LE 55 B2 R RN 32 B )

REA::F5&ZE! Air Connection

R 3 BE > Dimensions

I_S' RE A COMPACT SOLID ROTARY HYDRAULIC CYLINDER
(BUILT-IN CHECK VALVE & SENSOR)

=2k 2288

R 3 BE > Dimensions

H

C K COLLET CHUCKS

oA
oC
oD
E
oF

J

(0}

K

oA1

FERERIUNERFSDIN 634357 &3
Use collect which conform with DIN6343

i5 P
5
ARE RySTicd
BT AR | L
_ 7
[Fguas - CRuae
H
B : ERl
LS-RE B seniie/ ] LS-REA S-PT1/4] Tho
#3 1% & > Specifications EE{I/UNIT:mm
RIS c G
MODEL B (h7) D E F El A (H8) .
/ SPEC.
LS1120RE 110 20 145 128 42 30 425 31 22 M20x2.5P
LS1221RE 120 21 168 145 44 32 42.5 31 22 M20x2.5P
LS1330RE 130 30 168 150 51 36 52.5 32.5 26 M24x3P
LS1120REA 110 20 145 128 42 30 42,5 31 22 M20x2.5P
LS1221REA 120 21 168 145 44 32 42.5 31 22 M20x2.5P
LS1330REA 130 30 168 150 51 36 52.5 32.5 26 M24x3P
BT/ FRAS M M
MODEL J K Al B1 C1 D1 L max min N
/ SPEC. ) )
LS1120RE 35 135 9.9 21.9 52.9 22.9 74.5 49.9 29.9 163
LS1221RE 35 138 8.9 20.9 52.9 22.9 74.5 49.9 28.9 186
LS1330RE 35 155 10 22 63 33 84.5 60 30 186
LS1120REA 35 135 9.9 21.9 52.9 22.9 74.5 49.9 29.9 163
LS1221REA 35 138 8.9 20.9 52.9 22.9 74.5 49.9 28.9 186
LS1330REA 35 155 10 22 63 33 84.5 60 30 186
AU /34 EETE SEDEE IRIEAE] A
MODEL P P Q R T Piston Stroke Max. Speed Moment Oil Leakage
/ SPEC. e " (mm) r.p.m (min“) of Inertia ate
P (kg-m2) (€/min)
LS1120RE 60 40 6-M8x1.25P 125 17 20 6000 0.02 1.2
LS1221RE 60 39 6-M10x1.5P 128 16 21 6000 0.03 1.2
LS1330RE 60 30 6-M10x1.5P 145 19 30 6000 0.03 1.2
LS1120REA 60 40 6-M8x1.25P 125 17 20 6000 0.02 1.2
LS1221REA 60 39 6-M10x1.5P 128 16 21 6000 0.03 1.2
LS1330REA 60 30 6-M10x1.5P 145 19 30 6000 0.03 1.2
o ; & RAHEGDA _ S el
=t e RO 2 Max. ;bperating Force PE JERET)
B3 HRAE Piston Area (cm?) b ; Air Connection
MODEL | e P ey T ol Piode g MaxPress
/ SPEC. gtiem MP2) " pish Side PulSide kg (kN) kgt (kN) g kgficm?® (MPa)
LS1120RE 35 (3.4) 89.6 84.8 2800 (27.5) 2700 (26.5) 8.2 --
LS1221RE 40 (3.9) 107.7 102 3900 (38) 3800 (37) 10.8 -
LS1330RE 40 (3.9) 127.4 119.4 4600  (45) 4300 (42) 1.4 -
LS1120REA 35 (3.4) 88.6 84.8 2800 (27.5) 2700 (26.5) 8.25 10.2(1.0)
LS1221REA 40 (3.9) 106.7 102 3900 (38) 3800 (37) 10.8 10.2(1.0)
LS1330REA 40 (3.9) 126.4 119.4 4600  (45) 4300 (42) 114 10.2(1.0)

e BIFIZHE-EE /] : 30kgf/cm?(2.94MPa) #if : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

{ /ii_il [ 1] .
770" &&M_ 1 Multibore Collet Spring Collet
#8245 38 > Specifications EEA/UNIT:mm
BUTE 3R
MODEL A Al B C D E
/ SPEC.
CK30A4 112 85 107.5 82.6 63.513 M50x1.5P
CK42A5 135 100 127 104.8 82.563 M66x1.5P
CK42A6 165 100 127 133.4 106.375 M66x1.5P
CK52A5 135 110 127 104.8 82.563 M72x1.5P
CK52A6 165 130 150 133.4 106.375 M90x1.5P
CK60A6 165 130 150 133.4 106.375 M90x1.5P
BT /3R
Jelat F G H J e i
CK30A4 45 M40x1.5P 25 17 28 23
CK42A5 60 M55x2P 27 25 34 28
CK42A6 65.8 M60x2P 32 25 34 28
CK52A5 67 M60x2P 27 25 34 28
CK52A6 67 M60x2P 27 30 38 32
CK60A6 82 M75x2P 27 30 38 32
AT /3858 EETE FE (=L S S R T T
h/lig)ggﬁn L T Sleeve Stroke Weight Max. Speed J;&i’ﬁﬁé@gfﬁﬁ ;
/ SPEC. (mm) (kg) r.p.m (min”)
CK30A4 3-M10x1.5P 2.3 5 4.0 7000 P1036
CK42A5 4-M10x1.5P 3.2 6 6.2 6000 P1246
CK42A6 4-M12x1.75P 3.2 6 7.6 6000 P1552
CK52A5 4-M10x1.5P 3.2 6 6.7 6000 P1552
CK52A6 4-M12x1.75P 3.2 6 12.1 6000 P1552
CK60A6 4-M12x1.75P 3.2 6 111 5000 P1875
D=
Rt /4945 R s e BAHE BB
MODEL Matching Collet Ref L Max. Push Force Max. GrippingForce
/ SPEC. Spring Collet  Multibore Collet B TNEBH DaL) kgf (kN) kgf (kN)
Round Hexagonal Square
CK30A4 163E M-669 03~030 427 5~20 2040(20) 4488(44)
CK42A5 173E M-673 03~042 6~36 6~30 2550(25) 5610(55)
CK42A6 173E M-673 03~042 6~36 6~30 2550(25) 5610(55)
CK52A5 177E - 05~052 8~45 7~36 2850(28) 6620(61)
CK52A6 177E -- 05~052 8~45 7~36 2850(28) 6620(61)
CKB60A6 185E M-677 04~060 8~52 7~42 3060(30) 6630(65)

28



93 22X 50 /B OIS 85

185 DEE I TR RAIRES
T8 - EEEEES

2. BENMEERET : EicDiFssEE Szl
SR o EFNERIFEEFNITIOEDEEN °

SEHLIEIERMR - THSRQIEREEEE)
ISR D BN T3S B Y PREF OIREK - {8
REFENIIBEMIRT TIFER ©

4. SMEESEESE - RIELRETIVSEIIEEE
BETER TIFIFEVEE R AR IFRIERIEEIE -

R Y B » Dimensions

IC TB'IC INDEXING CHUCKS, HYDRAULIC FEED TUBE

1.Specialize for multi-axis manufacturing requirement,
ex: Valve, Cross bearing, hose joint...etc.

W AY BpuiL Back POWER cHUCK FIXTURES
B AITHER IR B

NI TUHERERE T (FEEAVES ~ SiI0TE - 2835 T
HFIEERE LF - ERAEEISESFRERAEII0T -

1. REPGIEEE  ERR TIFBRIRIREIER - &
L EBFERTIERRIE » NEEFFN R °

2 PHEERE - ELIFE LHESHIIT ~ tIERI/TENR
AEEAIREENEL - FERIRBBHVERT|OIRABE ©

3.EVJRFFERET - IEESHBARIUFEIDRIT LM » 5
BERETIEENE T -

Pull Back Power Chuck Fixture is ideal for

R < B > Dimensions

machining application on working table,

workpiece can be clamped firmly not lift up;

L 2.Automatic mechanism: With the special hydraulic feeder 30° 30° it is suitable for heavy cutting as well as the
258 Zt:@ and automatic control unit, the chuck could 90 indexing 80 2-PT1/4" E casting and forging machining.
gt ) . ) . 15D
B automatically during the spindle turning. 47 e 1.Rust-proof for Pneumatic Cylinder:
L K _F_ 3.Centrifugal force compensation: o [(Ho o] (65 Inside wall of cylinder being rustproof treated;
T T Compensation structure could reduce the e ® ® ® e cylinder can work under wet or high moisture
ol ., ) f clamping force lost during high speed turning : ® ~a\ circumstances without rusty or seized trouble.
o T B and stabilize the work-clamping. B ) . f= a 2.Dusts-proof and Waterproof:
SENM Indexing jaw al h o ;’ of o of < 4.The optimal structure design provides the o a2 e ';ﬁ ’’’’’ TS D:ft-prozf andl Wtater:)rofof structtur.e pr.e\:er.\ts _vc\j/orkf-
e/ Clamping jaw s S| © 9§ § o - ! 8 . chips and coolant water from entering into inside o
L bf , b 7J:5f_ best rigidity and precision. o @ By [0 I_[:E chuck cylinder to maintain its accuracy and lead to
NI j ° =12 longer service life.
- Q . an 4-M _ L 3.Heavy Duty Clamping Design: Collocating
S E[ K E hydraulic system to do heavy duty clamping, the
105 30° 30° chuck structure is steady and won’t deform.
biRE | - 15
& F3 2= {51 > Operation Example & B3 = {51l » Operation Example %?\ﬁ%% ?/éiﬁ
7 #& 2 > Specifications BEfi/UNIT:mm *R % F& > Specifications BE{i/UNIT:mm
T BT /RR8
Eidl T
I,\A%Q’E{% A B C D E F G H MODEL A B C D E . F NS G K
/ SPEC. /SPEC. ' ' ' '
PLVE-06 224 169 M10x1.5P(PCDg@202) 17 140 45.65 35.65 14.65 4.65 70 - 35
I1C-260 260 223.5 220 139.719 18 16 6-M16x2P(PCDg@171.4) 210 50
PLVE-08 265 210 M10x1.5P(PCD@243) 17 154 57.15 47.15 16.15 6.15 84 26 40
BT /3R J PLVE-10 315 254 M12x1.75P(PCD@285) 20 185 67.6 51.6 21.6 5.6 100 32 50
MODEL = o K L M N o) P Q
/ SPEC. ) ‘
iﬁ%g?ﬁ% N N SEEEE
M . P Q Piston Area
IC-260 58 40 115 45 18 18 8.5 5 9.55 /SPEC. Max. min. (cm?)
s P 55%@%- AR PLVE-06 211(PCD 0202) 56.69 54.01 3-M6x1P(PCD@80) 3-M6x1P(PCDg120) 91
MODEL S oR T Index Angle P'St(zmrea P'U”%rir mS)tmke PLVE-08 011(PCD 0243) 69.56 66.88 3-M10x1.5P(PCDo136) 3-M10x1.5P(PCDo186) 160
/ SPEC.
PLVE-10 213(PCD 0285) 87.44 81.61 3-M12x1.75P(PCDg@170) 3-M12x1.75P(PCD@230) 215
IC-260 M8x1.25P 35 6 4%90° 43 18
BUSH /AR HEITIE miTiE (B%) BRAFIRET/] BRKEREHEET] TISEE
MODEL Plunger Stroke Jaw Stroke [Diameter] Max. Gripping Force Max. Pressure Setting v
- 5= =1 [ B = 2 = s P o IFEE / SPEC. (mm) (mm) kgf (kN) kgfflcm?  (MPa) Gripping Range
AT, /348 BARTUEE)  S508R BABIIS [EEEE e rimp
MODEL Max. Hydr Pressure Max. Speed Max. Gripping Force Matching Hydraulic =g g%g 9 -
/ SPEC. Kgffem?  (MPa) r.p.m (min") kaf  (kN) feed tube HADBEE BE PLVE-06 10 53 2950 (29 16 (1.57) 035~0160
Max. rotation dia Thickness
PLVE-08 10 5.3 4890 (48) 15 (1.47) 240~0210
IC-260 51 (4.9) 3600 2000 (19.6) TB-IC 200 70 PLVE-10 16 11.6 4990 (49) 16 (1.57) 050~0254

29

30



31

SHERZZE B8

R < B > Dimensions

NEW

MLMLT LONG STROKE HOLLOW POWER CHUCK FIXTURES
PZERI1TEE

T
S _ <
= .
=
(0]
#5218 & > Specifications EEfiI/UNIT:mm
B /A
MODEL B Cc D E F G H
/ SPEC.
ML-06 224 173 36 17 160 37.5 20 73
ML-08 265 215 42 17 183 39.5 25 95
ML-10 315 256 61 20 211 43 30 110
MLT-06 224 173 36 17 160 37.5 20 73
MLT-08 265 215 42 17 183 39.5 25 95
MLT-10 315 256 61 20 211 43 30 110
BT /1R
MODEL - i s < . o i
ML-06 21.05 10.55 12 31 18 39.07 33.46
ML-08 25.05 14.55 14 35 18 47.85 39.66
ML-10 29.05 12.55 16 40 18 61.34 52.06
MLT-06 21.05 10.55 12 31 18 39.07 33.46
MLT-08 25.05 14.55 14 35 18 47.85 39.66
MLT-10 29.05 12.55 16 40 18 61.34 52.06
B RS EIERE
MODEL N P Q R Thru-Hole
/ SPEC. [Diameter] (mm)
ML-06 211(PCDg202) 3-M8x1.25P(PCDg140) 3-M8x1.25P(PCD@90) M10x1.5P(PCDg202) 36
ML-08 211(PCDg243) 3-M8x1.25P(PCDg170) 3-M8x1.25P(PCDg120) M10x1.5P(PCDg243) 42
ML-10 213(PCDg285) 3-M12x1.75P(PCDg@220) 3-M12x1.75P(PCDg160) M12x1.75P(PCDg@285) 61
MLT-06 011(PCD202) - 6-M10x1.5P(PCD@145) M10x1.5P(PCD@202) 36
MLT-08 211(PCDo243) - 6-M10x1.5P(PCDo180) M10x1.5P(PCDo243) 42
MLT-10 213(PCDg285) -- 6-M12x1.75P(PCD@225) M12x1.75P(PCD@285) 61
BT, /354 EEEE HEETiE miTig (B BABIIE) BAREHERES S0
MODEL Piston Area Plunger Stroke Jaw Stroke [Diameter] Max. Gripping Force Max. Hydr. Pressure Gripping Range
/ SPEC. (cm?) (mm) (mm) kgf  (kN) kgflem?  (MPa) pping Rang
ML-06 85 15 10.8 4080  (40) 29 (2.9) 2920~0173
ML-08 154 22 16 5910  (58) 24 (2.4) 025~0215
ML-10 199 25 18 7540  (74) 23 (2.3) 2040~0256
MLT-06 85 15 10.8 2650  (26) 19 (1.9) 2920~0173
MLT-08 154 22 16 3870 (38) 16 (1.6) 025~0215
MLT-10 199 25 18 4990  (49) 16 (1.6) 2040~0256

MEI_ MEI— CRANK TYPE LONG JAW STROKE HOLLOW POWER
CHUCK FIXTUES

- |

PZEERI1TIE
SHERZZ 8%

R < B > Dimensions

@ 2-PT1/4" 20
30°
"""" [,4 s
30°
52 -
MELT 2

#5218 & > Specifications EEfT/UNIT:mm
BT /1R

MODEL A B C D E F G H

/ SPEC.

MEL-06 224 178 28 17 157 37.6 20 73
MEL-08 265 220 38 17 177 39.5 25 95
MEL-10 315 265 61 20 212 43.1 30 110
MELT-06 224 178 28 17 157 37.6 20 73
MELT-08 265 220 38 17 177 39.5 25 95
MELT-10 315 265 61 20 212 43.1 30 110
BT /1R

MODEL .. rin J K L i n
MEL-06 19.55 10.55 12 31 18 50.13 38.03
MEL-08 20.55 11.55 14 35 18 61.0 44.96
MEL-10 24.55 11.05 16 40 18 78.16 59.37
MELT-06 19.55 10.55 12 31 18 50.13 38.03
MELT-08 20.55 11.55 14 35 18 61.0 44.96
MELT-10 24.55 11.05 16 40 18 78.16 59.37
BTV /RRAE K N=EEY
MODEL N P Q R Thru-Hole
/ SPEC. [Diameter] (mm)
MEL-06 211(PCD@202) 3-M8x1.25P(PCD@160) 3-M8x1.25P(PCD@120) M10x1.5P(PCD@202) 28
MEL-08 011(PCD@243) 3-M8x1.25P(PCD@190) 3-M8x1.25P(PCDg@140) M10x1.5P(PCD@243) 38
MEL-10 213(PCDo285) 3-M12x1.75P(PCD@230) 3-M12x1.75P(PCDg180) M12x1.75P(PCDg285) 61
MELT-06 211(PCD@202) - 6-M8x1.25P(PCDo145) M10x1.5P(PCD@202) 28
MELT-08 211(PCD@243) - 6-M10x1.5P(PCDg180) M10x1.5P(PCD@243) 38
MELT-10 213(PCD@285) - 6-M12x1.75P(PCD@230) M12x1.75P(PCDg285) 61
BRIEE  SEEE HER T (EE) BABRET EAREHEE/) S
MODEL Piston Area Plunger Stroke Jaw Stroke [Diameter] Max. Gripping Force Max. Hydr. Pressure Gripping Range
/ SPEC. (cm?) (mm) (mm) kgf  (kN) kgflem?  (MPa) pping Rang
MEL-06 85 15 24 2670  (26) 30 (3.0) 025~0178
MEL-08 154 20 32 3900 (38.2) 24 (2.4) 230~0220
MEL-10 199 25 37.5 5586  (54.7) 26.5 (2.6) 045~0265
MELT-06 85 15 24 1790  (17.6) 20 (2.0) 025~0178
MELT-08 154 20 32 2600 (25.5) 16 (1.6) 230~0220
MELT-10 199 25 37.5 3724 (36.5) 18 (1.8) 045~0265

32



Pk I\ R ZE5H [ER 2X &8

NI\ HEE R EE AR TFEEAYES ~ #500

Tims%st -

1 RELFGIEEEE  EHER TIERIZIRENIER - RiEL
AREBRHERGIERRIE » NEEHFH R -

2.PHEEEEE : ELIFE LHISEHILIF ~ UIBRITENRT
SENREZAED - TERREBBVERSmMREE -

3. FETUHELRFIE : Bl E I B I ZREENED - BEAE
ERESHEEIE ~ I=F2RFEFTD - BRAIREUIHIR
FRERVRES - (S8R -

R I B > Dimensions

R 2-N

MO MOT HOLLOW POWER CHUCK FIXTURES

With built-in type cylinder, it is ideal for machining application
on working table.

1.Rust-proof for Pneumatic Cylinder:

KILEARIVHEE IR RS

PO, 2SR S AR S TS ERY
8 - BENDTIMARET -

1. RELFGIEEE  EER TIERISIRERIED - Rl
NEHERGIBRRIE - NEEHF R -

2.PHEEEEE : ELIFE LHISEHELIF ~ LB RITENRT
SHENRBZAEL - TERREBBAVERFmREE -

3. IUHELFIE : Al E IR BT IREENEE - SEAE
TERERSHVEEIE ~ I=F2REF D - BAIRELIHIF R
FRERVRET - [T o

R I B > Dimensions

M B LARGE THROUGH HOLE POWER CHUCK FIXTURE

With built-in type cylinder, it is ideal for
machining application on working table.

1.Rust-proof for Pneumatic Cylinder:

s 1V 45 15 |D Inside wall of cylinder being rustproof treated; & 2.PT1/4 E - Inside wall of cylinder being rustproof treated;
o o — cylinder can work under wet or high moisture / { 5 cylinder can work under wet or high moisture
2 { 2 45 circumstances without rusty or seized trouble. circumstances without rusty or seized trouble.
g 2 2.Dusts-proof and Waterproof: X 2.Dusts-proof and Waterproof:
T /®® Dust-proof and Waterproof structure prevents Dust-proof and Waterproof structure prevents
’ alo < work-chips and coolant water from entering into work-chips and coolant water from entering into
o . -‘ L o ki | e inside of chuck cylinder to maintain its accuracy inside of chuck cylinder to maintain its accuracy
| ® s 30 and lead to longer service life. and lead to longer service life.
2 g s | 7 H 3.Benefit of Built-in Cylinder: 3.Benefit of Built-in Cylinder:
8 4M == The cylinder is connected to chuck itself directly The cylinder is connected to chuck itself directly
i ’ G| L for obtaining better stability, less space, and for obtaining better stability, less space, and
K i F higher machining efficiency. higher machining efficiency.
#7318 7= > Specifications EEfiI/UNIT:mm #3218 & > Specifications BSfiI/UNIT:mm
BT /AR =t
')ASOiDE% A B c D E F G H | J K L M i:\;;é/é@ﬁ% A B C D E F G H J
MO-04 157 115 - 15 77.5 104 26 49.5 14 10 23 13 29(PCD 2135) / SPEC.
MO-05 185 135 - 15 95 128 33 62 14 10 25 13 29(PCD ¢165)
MO-06 224 169 25 16 118 158 40 73 20 12 31 18 211(PCD 2202) MB-06 208 173 45 16 118 158 40 73 20 12
MO-08 265 210 30 20 138 180 42 95 25 14 35 18 211(PCD 0243)
MO-10 315 254 52 23 150 196 46 110 30 16 40 18 213(PCD 0285)
MO-12 375 304 80 23 165 219 54 129 30 21 50 18 217(PCD 0340)
MOT-04 157 115 - 15 775 104 26 495 14 10 23 13 09(PCD 0135) MB-08 270 215 52 17 130 172.5 42 95 25 14
MOT-05 185 135 - 15 95 128 33 62 14 10 25 13 29(PCD ¢165)
MOT-06 224 169 25 16 118 158 40 73 20 12 31 18 211(PCD 0202)
MOT-08 265 210 30 20 138 180 42 95 25 14 35 18 211(PCD 0243) MB-10 315 256 75 19 146 190.5 46 110 30 16
MOT-10 315 254 52 23 150 196 46 110 30 16 40 18 213(PCD 0285)
iy
EE \ o . . 5 o | EEE R, /1818 EEE
/ SPEC. Piston Area (cm?) MODEL K L M o) P Q Piston Area
MO-04 PT1/8 M8x1.25P 3-M8x1.25P(PCD@90) 64 47 - 57 VEFEE, (em?)
MO-05 PT1/4 M8x1.25P 3-M8x1.25P(PCDg100) 80 47 - 74
MO-06 PT1/4 M10x1.5P 3-M8x1.25P(PCDo134) 80 47 - 97 MB-06 31 18 4-g11(PCD@202) M10x1.5P 3-M8x1.25P(PCDo134) - 97
MO-08 PT1/4 M10x1.5P 3-M10x1.5P(PCDg136) 80 47 3-M10x1.5P(PCDg186) 156
MO-10 PT1/4 M12x1.75P 3-M12x1.75P(PCDg@170) 80 47 3-M12x1.75P(PCD@230) 235
l\'/\I/‘C())'I:j024 Eﬁg MNEIBL?).(Zng 32'\",\]'22 :;gﬁgﬁgggsg?) 22 - 3-M12x1.75P(PCD0260) 25972 MB-08 35 18  4-011(PCDo243)  M10x1.5P 3-M10x1.5P(PCDo150) 3-M10x1.5P(PCDo186) 156
MOT-05 PT1/4 M8x1.25P 2-M8x1.25P(PCDg100) 80 47 - 74
MOT-06 PT1/4 M10x1.5P 2-M8x1.25P(PCDg134) 80 47 - 97
MOT-08 PT1/4 M10x1.5P 2-M10x1.5P(PCDo136) 80 47 2-M10x1.5P(PCDo186) 156 MB-10 40 18 4-013(PCD@285) M12x1.75P 3-M12x1.75P(PCDg@182) 3-M12x1.75P(PCD@232) 226
MOT-10 PT1/4 M12x1.75P 2-M12x1.75P(PCDg@170) 80 47 2-M12x1.75P(PCD@230) 235
AT /AR HEITIE mTTREEE Eaiji_ﬁ?mﬁjj AR HEREE ] /?'E A ETE RITL /4948 = TR (E) BRI EASTEHEEN . SBE
MODEL Plunger Stroke Jaw Stroke Max.Gripping Force Max. Hydr. Pressure Weight Gripping Range :MIODELD Plunaer Stroke Jaw StrokIe Max Grinoing Force Max |‘j| dr/ Prossure RIFEE Weight
/ SPEC. (mm) (Diameter) (mm) kgf (kN) kgf/cm?  (MPa) (kg) Y SPEC. %mm) (Diameten)(mm) kot PP ?kN) ket /cym? (MPa) Gripping Range (K 5’)
MO-04 9 3.8 2400 (23.5) 15 (1.5) 7.05 29~0115
MO-05 10 5.4 3285 (32.2) 20 (2.0) 11.2 212~0135
MO-06 12 5.5 5040 (49.4) 20 (2.0) 21.0 015~0169 MB-06 12 55 5040  (49.4) 20 (2.0 020~0173 217
MO-08 16 7.4 8100 (79.4) 20 (2.0) 36.8 2920~0210
MO-10 19 8.8 12210 (119.7) 20 (2.0) 56.4 033~0254
MO-12 23 10.6 14500 (142.1) 20 (2.0) 88.5 240~2304
MOT-04 9 38 1900 (18.6) 12 (1.2) 6.9 29-0115 MB-08 16 7.4 8100 (79.4) 20 (2.0) 025~0215 35.5
MOT-05 10 5.4 2620 (25.6) 16 (1.6) 11.2 212~0135
MOT-06 12 5.5 4030 (39.5) 16 (1.6) 21.0 215~9169
MOT-08 16 7.4 6480 (63.5) 16 (1.6) 36.8 220~0210 MB-10 19 8.8 12330 (120.9) 21 (2.1) 037~0256 54
MOT-10 19 8.8 9760 (95.6) 16 (1.6) 56.4 033~0254

33



35

M D M D'M 3-JAW AIR CHUCKS FIXTURE(SINGLE PISTON)

PR O A S B
= T\ [ P B
(BE5EEE)

P TN BIEH B SR B AR AR AT B -
1.HUEHEIESET » Z28E8(EF ~ ENEZER -
2. OIS BN - ZHHERILIEY - BEEEEFRK °

3JAEIRGHEEIE - BRSIITIRIEFRRK -
4.5CEEBHEEERET - IRFIRB(EASmREE -

™

Air Chuck Fixture Special Features:

1.Front-lock design, easy installation & save a space.
2.Available on multi-plate for mass production.

3.Rust-proof for pneumatic cylinder.

4.Dusts-proof & water-proof design to maintain its accuracy and
lead to longer service life.

R < B > Dimensions

oA

MD-06-M,08-M %!

BB SEED

SEEL]IZRE
(=)

Pneumatic switching valve (1 to 2)

FUBLDIRR (—%—)
Pneumatic switching
valve(1 to 1)

=i il

Modular parallel

P T\ B sH B
=MK[EEIRER
(BB553)

P\ Bl B R BR AR AR A5 e -

1. BUEHAUERET » LafER ~ EiEZER -

2. OifEEDe AR - ZHHERETES]

3 REIRGHERRIE - B S IITIRIEFRK °
IR RER(E SR RABE ©
5. EEEETIBANBIRI RS D - BESELIIHIIL -

4 5EEEBGEEERS

R < B > Dimensions

M F R M F R'M 3-JAW AIR CHUCKS FIXTURE(DOUBLE PISTON)

T

 RSBERK -

Air Chuck Fixture Special Features:

1.Front-lock design, easy installation & save a space.

2.Available on multi-plate for mass production.

3.Rust-proof for pneumatic cylinder. 4.Dusts-proof & water-proof
design to maintain its accuracy and lead to longer service life.

5.Twin-pistons to increase the clamping force for heavy-duty cutting.

ol

oB

SRELDIBRE
(=)

Pneumatic switching valve (1 to 2)

MFR-04-M %

SFHIEFE S EES

RBLDIAR (—%—)
Pneumatic switching
valve(1 to 1)

=rE gl

Modular parallel

*2 #% F& > Specifications B N/UNIT:mm
BT/ A8
MODEL A B C D E F G H | J K R R1 R2 R3

/ SPEC.

MD-04 125 78.5 40 11.5 105.2 26.7 14 49.5 10 23 - -- - - -

MD-06 172 90 40 11.5 130.4 40.4 20 73 12 31 -- -- -- -- --

MD-08 210 108.5 40 14 150.9 42.4 25 95 14 35 - -- - - -
MD-04-M 167 125 15 82 108.7 26.7 14 49.5 10 23 13 47 - - -
MD-06-M 224 172 15 93.5 133.9 40.4 20 73 12 31 18 47 8.5° 6.5° 23.5°
MD-08-M 265 210 20 114.5 156.9 42.4 25 95 14 35 18 47 9.5° 5.5° 24.5°
BT RS
MODEL L M N P Q

/ SPEC.

MD-04 3-M8x1.25P(PCDg110) - - - -

MD-06 6-M10x1.5P(PCDg155) - - 3-M8x1.25P(PCD@110) 3-M8x1.25P(PCDo148)

MD-08 6-M12x1.75P(PCDo185) - - 3-M10x1.5P(PCDo136) 3-M10x1.5P(PCDo186)
MD-04-M 29(PCDo145) 2-PT1/8" M8x1.25P(PCDo145) - 64
MD-06-M 211(PCD@202) 2-PT1/4" M10x1.5P(PCD@202) 3-M8x1.25P(PCDg110) 80
MD-08-M 211(PCD@243) 2-PT1/4" M10x1.5P(PCD0243) 3-M10x1.5P(PCDo136) 80

TC[EE AR
B /IR EEEE (T T2 (M) TERE o, AT

MODEL U Piston Area  Plunger Stroke  Jaw Stroke(Diameter) Gripping r'pp';?( f?rcez 0 ﬂl&lpressure
/ SPEC. (om?) (mm) (mm) Range ghiem* (0. 7MPa)

gt  (kN)

MD-04 -- 67 10 3.5 016~0125 1800 (17.6)

MD-06 -- 136 12 4.2 024~0172 3700 (36.2)

MD-08 -- 191 18 6.3 ©25~2210 5150 (50.5)
MD-04-M -- 67 10 3.5 016~0125 1800 (17.4)
MD-06-M 3-M8x1.25P(PCDg@148) 136 12 4.2 024~0172 3700 (36.2)
MD-08-M 3-M10x1.5P(PCDg186) 191 18 6.3 025~2210 5150 (50.5)

*% % F& > Specifications B {/UNIT:mm
BT RS

MODEL A B C D E F G H | J K R R1 R2 R3

/ SPEC.

MFR-04 125 105 40 115 131.7 26.7 14 49.5 10 23 -- -- - - -

MFR-06 172 118 40 11.5 158.4 40.4 20 73 12 31 -- -- -- -- --

MFR-08 210 145 40 14 187.4 42.4 25 95 14 35 -- -- - - -
MFR-04-M 167 125 15 108.5 135.2 26.7 14 49.5 10 23 13 47 - - -
MFR-06-M 224 172 15 121.5 161.9 40.4 20 73 12 31 18 47 8.5° 6.5° 23.5°
MFR-08-M 265 210 20 151 193.4 42.4 25 95 14 35 18 47 9.5° 5.5° 24.5°
BT /RS

MODEL L M N P Q

/ SPEC.

MFR-04 3-M8x1.25P(PCDo110) - - - -

MFR-06 6-M10x1.5P(PCDo155) - - 3-M8x1.25P(PCD@110) 3-M8x1.25P(PCDo148)
MFR-08 6-M12x1.5P(PCDgo185) - - 3-M10x1.5P(PCDg136) 3-M10x1.5P(PCDgo186)
MFR-04-M 29(PCDo145) 2-PT1/8" M8x1.25P(PCDo145) - 64
MFR-06-M 011(PCD@202) 2-PT1/4" M10x1.5P(PCD2202) 3-M8x1.25P(PCDo110) 80
MFR-08-M 011(PCD@243) 2-PT1/4" M10x1.5P(PCDo243) 3-M10x1.5P(PCDo136) 80
B /1R EEE (TR MR (BE TERE o, AT

MODEL U Piston Area  Plunger Stroke  Jaw Stroke(Diameter) Gripping r'pp';?( f?rcez 0 ﬂl&lpressure

/ SPEC. (om?) (mm) (mm) Range ghiem* (0. 74P)

gt  (kN)

MFR-04 -- 133 9 3.8 016~0125 2980 (29.2)
MFR-06 -- 270 10 5.3 024~0172 5280 (51.7)
MFR-08 -- 380 16 7.4 025~2210 7800 (76.4)
MFR-04-M -- 133 9 3.8 016~0125 2980 (29.2)
MFR-06-M  3-M8x1.25P(PCDg@148) 270 10 5.3 024~0172 5280 (51.7)
MFR-08-M  3-M10x1.5P(PCDo186) 380 16 7.4 225~0210 7800 (76.4)

36



\ 1IN
HBIS R [ERIZER

1. A BSLRABEEHEBREE : MFERFERe83L - &
BENEEFZRGNVERENNL - BEfEEEEsEBEEE
» OIEEE BB EIELT ©

2 g TUSHEL - AT ERIRBREFGERET - ERIFEN R 2RFFRY
BENE -

3 AEMUEEEN : sRBENIREE TTEEEBIFEIFDIRES
BEIHENMREE -

4 BEEERFRES LIFRER  REIHNRHERERE

SUPER PRECISION AIR CHUCKS

ISEERRW 2E T2y ol NS

1. A BSLRTEBEHEBEEE : MARFERe83L - 8
BENEEFZGNVERENNL - BEfEEEEsEREE
» OIEEEE)EEREET -

2. R TVAEL ¢ SSELEAIRERIEFGERET - WERIFEIRIREFHY
BENME -

BAETUEEENL : sRBENMIRELETIEEEBITERIGNIRET
BEHENMBEE -

4 BESEERFRES LIFRER  RETHNRHEREE
REFHBE OEUR - BHERIE - BIRSVERIVEREIL -

MTK MTK'T SUPER PRECISION AIR CHUCK FIXTURES

REHBE OHELTR - BERIE - BIRSVERIVEREIL -

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining
is not necessary, and pre-machined lubrication path can connect to
auto-lubrication unit to lubricate the chuck automatically.
2.Built-in Cylinder:

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining
is not necessary, and pre-machined lubrication path can connect to
auto-lubrication unit to lubricate the chuck automatically.

2.Built-in Cylinder: Connect cylinder directly to the chuck for stabl gripping.

R Y B > Dimensions R - B > Dimensions

3.Precise soft jaw positioning:
It's easy to remount soft jaw to

PT1/8

Connect cylinder directly to the chuck for stable
gripping.

b 05 the correct position with dowel (oﬁf\q | (HSFALIOI Mist Inlet) 3.Precise soft jaw positioning:
] — i i B 15 5 e 2Pt It's easy to remount soft jaw to the correct position
= f( pins on it. » . \ /RS 2-PT-1/4 (&3LAIr Supply S CERY IO [ el P
f < 4.High gripping precision brings ] & (ER3LAIr Supply Port For Grip with dowel pins on it.
L | better quality and efficiency: T Port For Grip dlnaii) 4.High gripping precision brings better quality and
ol o N / Ungrip)
P IS Good coaxiality and % efficiency.
o < 'g repeatability of gripping are I ; Good coaxiality and repeatability of gripping are
- Jgtﬁg able to achieve the accuracy ST :éatf fm'sg able to achieve the accuracy of "u degree"
i g; of "u degree" machining © :%% machining processes can be simplified or shortened
i1-8 processes can be simplified or ol BE 1o to make high precision machining with high
H L o
1B gmg shortened to make high L 55:1.’ efficiency come true.
| Eg precision machining with high = 4 EZ
LL« efficiency come true.
MTK # MTK-T 24
= o JE 2o A = o JE oo f
ARESHBETE UK AESHBSETEUR

This product reaches the repeatability of "u degree" This product reaches the repeatability of "u degree"

F& FA &6 {51l > Operation Example
REBUIRMERETST / 1SFRMHE

Examples of Attaching Pneumatic Manual Switch / Optional Accessories

& FB &B {51l > Operation Example

NiER BB LI
Split type hand control valve

R £% 38 > Specifications BEiI/UNIT:mm #82 #% 38 > Specifications EEiI/UNIT:mm

B RS d AU

BT 3RS
'}"gFPEECL A B c D E D1 H7) D2 H h w M1 MODEL A B c D d E F H w L
- / SPEC. (H7)

TK-04 20.75 127 127 1016 30 82.55 18 25 703 32 16 6-M5x0.8P(PCD@88.9)

TK-06 39.75 127 127 1524 40 124.97 26 34.5 703 3.2 22 6-M6x1P(PCD2135.89) MTK-04 148 17 20.75 101.6 18 12.7 12.7 80 16 13
TK-08 65.75 25.4 -- 203.2 45 167.64 50 50 99.5 7.0 25 6-M10x1.5P(PCDg182.88) MTK-06 200 18 39.75 152.4 26 12.7 12.7 81 22 18
TK-04T 20.75 127 127 1016 30 82.55 18 25 703 3.2 16 6-M5x0.8P(PCD@88.9) MTK-04T 148 17 20.75 1016 18 12.7 127 80 16 13
TK-06T 39.75 12.7 12.7 152.4 40 124.97 26 34.5 70.3 3.2 22 6-M6x1P(PCDg@135.89) i 200 18 39'75 152'4 6 12'7 12'7 o1 oo 18
TK-08T 65.75 25.4 - 2032 45 167.64 50 50 995 7.0 25 6-M10x1.5P(PCDo182.88) g : : : :

RIS /IR BT /53
MODEL M2 M3 T T2 T3 R1 Mig){JEﬁ% M M1 M2 M3 N T1
/ SPEC. / SPEC.

TK-04 6-M5x0.8P 9-03.18 3-M5x0.8P(PCD@88.9) - - 30°

TK-06  12-M5x0.8P 9-03.18 3-M6x1P(PCDo135.89) 3-M6x1P(PCDo110) 3-M6x1P(PCDo135.89) 30° MTK-04 29(PCD2130) 6-M5x0.8P(PCD288.9) 6-M5x0.8P  9-¢3.18  3-M8x1.25P  3-M5x0.8P(PCDo88.9)
TK-08 6-M10x1.5P 6-06.36 3-M8x1.25P(PCDo182.88) 3-M8x1.25P(PCDg@150) 3-M8x1.25P(PCDg100) 30° MTK-06 211(PCDg180) 6-M6x1P(PCD@135.89) 12-M5x0.8P 9-03.18 4-M10x1.5P 3-Méx1P(PCDg135.89)
TK-04T 4-M5x0.8P 6-03.18 2-M5x0.8P(PCD@70) - - - MTK-04T 29(PCDg130) 6-M5x0.8P(PCD288.9) 4-M5x0.8P 6-03.18 3-M8x1.25P 2-M5x0.8P(PCDo70)
TK-06T 8-M5x0.8P 6-03.18 2-Méx1P(PCDo110) - - - MTK-06T 211(PCDo180) 6-M6x1P(PCDo135.89) 8-M5x0.8P 6-03.18 4-M10x1.5P 2-M6x1P(PCDo110)
TK-08T 4-M10x1.5P 4-06.36 2-M8x1.25P(PCD@150) - - -

A /ARAE M7 (BE) ZEERACHF /] Gripping Force =S PSS PE RIS /AR MTUTRR(BX) ToEAIE @
MODEL R2 R3 Jaw Stroke At Air Pressure 7kgf/cm?(0.7MPa) Max.Speed Weight IVIIODELD T2 T Jaw Stroke Gripping Force V\/Iii ht
/ SPEC. [Diameter] (mm) kgf (kN) r.p.m(min") (kg) / SPEC. (Diameter) At Air Pressure 7 kgf/cm? (0.7MPa) (kgg)

kgf kN
TK-04 - - 3 800 (7.8) 4500 44 (mm) 9 (kN)
TK-06 30° 75° 3 1200 (11.7) 4200 9.8 MTK-04 . . 3 800 (7.8) 6.2
TK-08 30° 30° 3 1800 (17.6) 2500 26.3 : : )
e - - 3 800 78 3200 e MTK-06 3-M6x1P(PCD 2110) 3-M6x1P(PCD 135.89) 3 1200 (11.7) 13
TK-06T - - 3 1200 (11.7) 3500 9.5 MTK-04T - - 3 800 (7.8) 6
TK-08T - - 3 1800 (17.6) 2000 251 MTK-06T - - 3 1200 (11.7) 12.6

37



KRB OES 3%

R Y BE > Dimensions

4
T D, AIR FEED TUBE

& & (10mmEB{iI) Tube Length (Unit: 10mm) 18

240

g e

(36.5)

; 4 BIg0:£E 500mm FHESE 50 °
TR U Ex. Fill in 50

for required length of 500mm.

#2 1% F& > Specifications EE{iI/UNIT:mm
BT /HRAS HEEEH RERSERES
MODEL / SPEC. Recommended Lubricant Max. Pressure
TB-XX-18 VG6EZ#RH VG6 or Equal 8.2 kgf/cm? (0.8MPa)
——l =N —— = ——
R B DR 2E = ——
N ’ FFI
(GEIKEY)
|| ZE G2 18
rotec %‘Oﬁ(wmmﬁﬁjﬂube Length(Unit:10mm)
1 Tri=i's
R T E > Dimensions [ 7 ! BUg0:FE 500mm BHESE 50 °
58"-32 UNE Ex. Fill in 50
for required length of 500mm.
#82 #% 38 > Specifications EEfiI/UNIT:mm
BTV /3818 = ESES _ SEBRSEREN NS ESERES
MODEL / SPEC. Max.Speed Recommended Lubricant Max. Pressure Coolant connection Max. Pressure
TBW-XX-18 8000min-' VGBEEARH VG6 or Equal 8.2 kgf/cm* (0.8MPa) 8.2 kgflcm®  (0.8MPa)

MTB AIR FEED TUBE

SR OES 3%

R Y BE > Dimensions

2-P4 ORUR 03. 2RI,
2-P4 O-Ring 3.2
Location Hole

BEfUI/UNIT:mm

T B' H A HYDRAULIC FEED TU

FHEX B R S
(SEFNEE)

R Y BE > Dimensions

(BUILT-IN SENSOR)

BEfiI/UNIT:mm

29.9 o
e 161616 38 20 36
PT1/4"H19
P4P3P2P1
Hoy—
i isiocicctce B EL"’ >
8 — L8 -
ELTJ u% S% 18] )
T n|
PT1/4"-19 — ()
77 10x1.5P ]
PCD 0110 30
SHEEREET] EREES] PE
Hydr. Pressure Air connection Max. Pressure Weight
kgf /em? (MPa) kgflcm? (MPa) (kg)
45 (4.4) 8.2 (0.8) 5.6

A D P MOUNTING PLATES

SEAGER

R Y B > Dimensions

ADP-04,06,08 ADP-104,106

H
H2_H1l
h2

h1

a o
Q
5/8"-32UNF 5/8"-32UNF
#52 #& & > Specifications EE{I/UNIT:mm
A=t
IM%Q‘Eﬁg D DI D2 di P! H Hi H2 h1 h2 M1 M2 M3
/ SPEC. (h7) (H7)

ADP-04 101.6 8255 24 8255 25 38 14 24 32 25 6-M5x0.8P (PCD 088.9)  12-M5x0.8P (PCD 088.9)  3-03 (PCD 088.9)
ADP-06 152.4 124.97 24 124.97 345 38 14 24 3.2 2.5 6-M6x1P (PCD 0135.89)  12-M6x1P (PCD 0135.89) 3-03 (PCD 0135.89)
ADP-08 203.2 167.64 30 167.64 50 54 25 29 7.0 5.0 6-M10x1.5P (PCD ©182.88) 6-M10x1.5P (PCD 0182.88) 3-04 (PCD 0182.88)
ADP-104 101.6 82.55 24 8255 25 48 24 24 32 25 6-M5x0.8P (PCD 088.9)  12-M5x0.8P (PCD 988.9)  3-03 (PCD 088.9)
ADP-106 152.4 124.97 24 124.97 345 48 24 24 32 25 6-M6x1P (PCD 0135.89)  12-M6x1P (PCD 0135.89) 3-03 (PCD 0135.89)

FORMING RINGS ( FOR SOFT JAWS OF SUPER PRECISION AIR CHUCKS )
BRI A EIES

R Y B > Dimensions

[Tl

253
#52 #8& € > Specifications EE{T/UNIT:mm
BT /RS EE
e A B C D E F G H [ J K L Weight (Kg)
FR-04 112 80 22 30 6 21 12.7 12.7 12.7 6-M5x0.8P 9-03.175 3-M8x1.25P 1.9
FR-06 167 130 30 30 6 40 12.7 12.7 12.7 12-M5x0.8P 9-03.175 3-M10x1.5P 4.3
FR-08 203 160 54 35 6 66 25.4 25.4 -- 6-M10x1.5P 6-06.35 3-M10x1.5P 7.2
BB IZEEE M et P
= 22N S | 1
- e il
o IH -~ et
£ i) e
‘ pm— .“\\___._,.:-'—
R Y B » Dimensions
EEi/UNIT:mm 2-C1 .g% .
8.25 ° i
2-C17] 30° Nf *@@*ﬁ =
E e voss S &— 2-FE893, g17x40L
gf’?fﬁ;bﬂgﬂgl_%*J 4-1£813], 99.5x23L i o _ 4Cl 127254
= = 6.35 12.7 T 5 acii27 127 w5 ®s ]
wiwg 4ct” T 5 s 08 Se el | L
os geEm T wos £ok 0 T &2 Bge,
83 Qwinio— iy ¥ 2 o2yt B = "ldel2sd s
S7g ' 186 L |20 e 8 'essl| || a0 6.125.
@ :" 12.712.7 ~ 12.7 12.7 2- 183, 66.37x6L
3-#83L #3.2x5L 3-453], 03.2x5L S A[
@ =3 Y
Q| of aees- ﬁ oD - Yg o
. 53 7 100

40



RTS RTS'T ROTARY AIR CHUCK FIXTURE (LOW TORQUE) (BUILT-IN CHECK VALVE)
(CONTINUOUS ROTATING)

RT ROTARY AIR CHUCK FIXTURES (INTERMITTENT OPERATION)
D57 [ER T S

BERITEE

EEEDEIN &R
EENREREEAR D ER - 2ok
D ERREHIRIEINEE - EN/IZRIFNITH
ERED SIS IeEFLIHE]

B85 55 [ PE A
{EiRE OEREs

1.IRSIER : MeViEREES U EEEEEEIVER -

2. BTV ECE - PR REERET - 2RHFRRR
AEFEEKEERSRE] » WERIERHETF
HBRDEH -

3.BHEEHPNERFSHE T ARG LE TFOPsEE & IS e

1 IRENCO ERRRESUTEENEEFA » ERFERHIEEN - AZREEAER » #MEFARTEIEEE(E -
2 RELRSHEEIE : EHER TIERIERENERT - RELRZEPEE 4 BTEBIN SIS + Sl BRARE SRSt - RS
I8 , 7ﬁ-§$§;§§2—|5§5 ° - BVISEIE - BISESHEIERIRE - _ _ . . ,
3. EIBEDRI : [/AIEEREREIEEEET » IEEARIFEEME - BEHER Suitable for light cutting 5. SELRHSEETE : (EERE TIESISmENER » & 1.Higher Rotation Speed: Higher rotation speed to fit
HESE T IRIE o It's Ideal for dividing or cutting work pieces by PO SR R with more kind of working.
mounting the chuck on indexing table or rotary ERHERD I A= ’ 2.Built in Check Valve:
table. The distinctive feature is that chuck RELEFHRIE ©

Design with built in Check Valve.lt's doesn't need
to supply the air continuously and remain low
working torque also reduce the air consumption.

rotates with the spindle of indexing table or
rotary table.

R I & > Dimensions Vel clavie.s s aEeitelesl e lu il s R T & > Dimensions 3.Dustproof and drainage patent structure can
'l;m'ted ro:ary szed ;"”t: rotary table. prevent the metal chips and coolant get into chuck
2.Rustproof treated cylinder: inside while processing, and maintain.
ﬁMSXLfSPlL—Pw‘ T The.cylind?r won't get. rusty a.nd seized even in wet MBX1/'25P s T 4.Integral pneumatic cylinder: Connect chuck and
— or high moisture ‘.’V°rk'.n9 environment. g built-in cylinder to each other directly; thus enables
| 3.Integral pneumatic cyllpdgr: ; Nl operation stability. Moreover,it is more convenient
Szl s el sl el e ee i e ] for installation and operation since the use of draw
RICEEE directly; thus enables operation stability. —SH-TH =5 83 tube and draw bar are no longer necessary.
Moreoyer, iF is more convenient for installation and :ﬂ —> 5.Rustproof treated cylinder: The cylinder won't get
[E operation since the use of draw tube and draw bar 22 e rusty and seized even wet or high moisture working
" are no longer necessary. o || S A——
< pri/antg G | prignre
RTS-T # RTS #
#82 #% 38 > Specifications BEfi/UNIT:mm {E F3 &8 151l > Operation Example #5218 32 > Specifications EEfiI/UNIT:mm {sE F3 &8 {51l > Operation Example
B30 /4888 - BT 3818
MODEL A B C D E F G H J K - MODEL A B C D E F G H | J K
/ SPEC. / SPEC.
| RTS-05 140 85 16 60 6 182 33.6 62 14 10 25
y i
AL 140 8 16 60 6 182 336 62 14 10 25 ) RTS-06 170 93 20 80 7 215 404 73 20 12 31
RT-06 170 93 20 80 . 215 404 - 20 12 a1 RTS-08 215 112 30 110 8 255 42.4 95 25 14 35
) ' RTS-10 255 120 43 140 8 300 46.4 110 30 16 40
RTS-05T 14 1 182 . 2 14 1 2
RT-08 215 112 30 110 8 255 42.4 95 25 14 35 5400 0 85 6 60 6 8 33.6 6 0 &
RTS-06T 170 93 20 80 7 215 40.4 73 20 12 31
- BILER - BB N =
BT /iR £ BT /R SEEEE
N N (0] (0] Thru-Hole N N (0] (0] Thru-Hole ! -
'>/I§)|PEECL L M max. min. max. min. P Q (Diameter) '>/I§)|PEECL L M max. min. max. min. P R (Diameter) Piston 2Area
: (mm) : (mm) (cm®)
RT-0 6-MBX1.25P PCDo118 26.93 2462 2005 655 o6 3-M8x1 25P(PCDE92 6 RTS-05 6-M8x1.25P PCDo118 26.93 24.62 20.05 6.55 18.5 6-M6x1P(PCD@92) 16 74
05 -Mexi.25 @ : : : : - "M8x1.25P(PCD092) RTS-06 6-M8x1.25P  PCDo147  36.46 33.69 2155 1555 185  6-M8x1.25P(PCD@120) 20 120
RTS-08 6-M10x1.5P PCDo185 44.92 41.52 29.55 17.55 19.5 6-M10x1.5P(PCDg@155 30 190
RT-06 6-M8x1.25P PCDo147 36.46 3369 2155 1555 26 - 3-M10x1.5P(PCDo130) 20 X o x1.5P( )
RTS-10 6-M10x1.5P PCDg@220 53.63 49.59 36.55 17.05 21.5 6-M12x1.75P(PCDg@190) 43 280
RT-08  6-M10x1.5P PCDo185 44.92 4152 2955 1755 27 3-M10x1.5P(PCD@186) 3-M10x1.5P(PCDo146) 30 RTS-05T  6-M8x1.25P  PCDol18  26.93 2462 2005 655 185  2-Méx1P(PCDo92) 16 4
RTS-06T 6-M8x1.25P PCDg147 36.46 33.69 21.55 15.55 18.5 2-M8x1.25P(PCDg115) 20 120
= : = =32 MITIE(BIE) =g BRARTEEN REBEREFN - =t e MITR(BIE) =g [EEE REREF g um
“WODEL  Pion Atea Plunger Spoke  JaWStioke  ZFESR, Max Pressure Grioping Force Grpoing “WODEL  Pungerapoke  JawSioke (\ZEEES,  Pressure . Gripping Force Gipping Weign
/SPEC (cm?) ?mm ) ( Diameter ) ro.m (rEr)1in") kgflem?  (MPa) At Air Pressure 7kgf/cm? (0.7MPa) R:Er? eg /SPEC %mm ) ( Diameter ) ro.m (rFT)ﬂn") Setting Range At Air Pressure 7kgf/cm? (0.7MPa) Rgr? eg ( kg)
g (mm) -p-m. kgf (kN) 9 : (mm) -p-m. kgflcm?  (MPa) kgf (kN) 9 9
e 4 10 45 51 . 0.7 1340 131 doia RTS-05 10 4.6 450 2-7 (0.2-0.7) 1340 (13.1) 04-0136 10
: : 0.7) (13.1) 04-0140 RTS-06 13 55 350 27 (0.2-0.7) 2330 (22.8) 025-0166  16.8
RTS-08 16 6.8 300 2-7 (0.2-0.7) 3730 (36.5) 033-0215 30.6
RT-06 120 13 55 41 7 (0.7) 2330 (22.8) 225-0170
RTS-10 19 8.0 250 27 (0.2:0.7) 5480 (53.7) 043-0255  45.1
RT-08 190 16 6.8 33 7 0.7) 3730 (36.5) 033-0215 RTS-05T 10 4.6 450 2-7 (0.2-0.7) 1340 (18.1) 04-0136 9.7
RTS-06T 13 5.5 350 2-7 (0.2-0.7) 2330 (22.8) 025-0166 16.3

41 42



43

PR Bl BB Eh K10\ 7 B2 SR

B ENRINREBRIEFEHPIWER SN TESEIVIITMEEST - EX,Y
PSR R PR FHEM = THRIREEE T HRINZIIEE - A3XISE -

1 RELFHIFEEIE « EHER T ERIBIRENIBER - [ELASMHEPHEEIE -
AEBEHHFIE °

2 PIEERE - EIIFE LRSI TAF » tIBRITENENZEAREASS -
TERZRERHVE R S REE -

3.ZEMHF ~ HEDIL - BRILSFEHHEYE —#HDRET - MEHE BRIV KEE
REEDBIFEX, Y MEHE D IS AAEZRIFEE - ERFEEI RN - 88
PRERAEFERIEE T » EE—HRStEIIREERIFEERVRER -

R~ B > Dimensions

MA ACTUATING AXES SELF-CENTERING SOLID AIR CHUCK FIXTURES

2 actuating axes self-centering solid air chuck
fixtures is great for machining center. Two
pairs of jaws clamp one after another to
assure a workpiece to be locked completely.

1.Rust-proof for Pneumatic Cylinder:

MR 3-JAW AIR CHUCKS
=/Ms&EE2z88

R~ B > Dimensions

Inside wall of cylinder being rustproof treated; 5 5
cylinder can work under wet or high moisture S0 \ 30
circumstances without rusty or seized trouble. NS e i ] hﬂ’{ﬂ?{ ol ol <
2.Dusts-proof and Waterproof: N 4S8 e
-5 Dust-proof and Waterproof structure prevents 30° ! 300 L j \
work-chips and coolant water from entering into o |. ‘5' :
inside of chuck cylinder to maintain its accuracy and - . _51 = \L
lead to longer service life. ~ M I ——TH
3.4-jaw Clamping and Self-centering: ‘ J ‘ E
D[ 4-jaw clamping are steadier for machining. Two pairs
of jaws are moved independently to assure complete K € E o
lock and self-centering.
VB
& FH 2% 151 » Operation Example ; ‘|= 4 ‘|' 45 [ 82 {85 FH #3151 > Operation Example for rotary table CNCE= B {85 FH #8151 > Operation Example for CNC Lathe
IR © HEFE ~ EENE i L
Speed, Accurate, Automatic A-> a8 - e e J [ 1]
= 5 : o T
MEZ D BIZEHS » E3RECHIN j\-"ﬁ o " / j,- el
4-jaws clamping and self-center '\:,h_: e - ‘3..___1' -
i) _* =
GEZEATRHEF) Piston "A" Clamping (GEZEEBHEHF) Piston "B" Clamping I|
#7 #& 5= > Specifications EE{i/UNIT:mm — —— ‘
B3t /57 - !
IVIE(V){DEIT% A B D E F G H | J K L M M
/ SPEC.
MA-06 224 175 20 130 170 40 73 20 12 31 18 211(PCDg202)
MA-08 265 210 22 154 196 42 95 25 14 35 18 211(PCDg243)
MA-10 315 250 25 176 222 46 110 30 16 40 18 213(PCDg285) 45 48 5= > Specifications S AT/UNIT
3 ‘mm
BT /348 AEEETE Piston Area (cm?) Rt 481
MODEL o P Q I 7Rl “MODEL A B c D E F G H J L K M
/ SPEC. Push Side Pull Side / SPEC.
MA-06 M10x1.5P(PCD 2202) 4-M8x1.25P(PCD 0124) 4-M8x1.25P(PCD ©0156) 127 108
MA-08 M10x1.5P(PCD 0243) 4-M10x1.5P(PCD 0140) 4-M10x1.5P(PCD ©186) 184 157 o 117 60 o4 o5 - 845 267 495 14 10 5/8"-32UNF 23 3-M8x1.25P(PCDo104)
MA-10 M12x1.75P(PCD 0285) 4-M10x1.5P(PCD 0176) 4-M10x1.5P(PCD 0224) 270 239
: B SEEER Piston A ) HETE TR (E) RIS , ‘ . B ST _ o o .
iﬁ%/ggﬁ% AZER Piston rea (o) Plunger Jaw Stroke Gripping Force At Air Pressure FE SISEE BUTL /3RS SEEN HEITIE ﬂ;ﬁgbﬂe ZR[ERHFF/] Gripping Force = {=pElESES RFFEE
o #e AR Stroke (Diameter) 7kgf/cm? (0.7MPa) Weight Gripping MODEL Piston Area Plunger Stroke (Diameter) At Air Pressure 7 kgf/cm?(0.7MPa) Max.Speed Gripping
: Push Side Pull Side (mm) (mm) kgf (kN) (kg) Range / SPEC. (cm?) (mm) o kgf (kN) r.p.m (min") Range
MA-06 122 117 12 5.5 4500 (44) 24.8 025~0175
MA-08 176 169 16 7.4 6400 (63) 41.3 230~0210 MR-04 57 9 38 1100 (10.8) 3800 210~6117
MA-10 254 241 19 8.8 9500 (93) 65.6 035~0250

44



KA AT A\ A A AL
I..HW BEfi/UNIT:mm
I—1 - B/ 4% .

Iylé)IE)EECID- G Reference Drawing

B8 . %
ESfiI/UNIT:mm 508 ) M12x1.75P ) . . fig.2

BUTE /RS SEESIRENEE BE S-10 . M14x2P . . . fig.2

'>A§)|PEECL S -2 -9 Serration Pitch Weight (kg) S-12 ’ M16x2P ’ : fig.2
SJ-04 49.5 23 . . M8x1.25P 1.5 x 60° 0.42
SJ-05 62 25 . M8x1.25P 1.5 x 60°
SJ-06 73 31 M10x1.5P 1.5 x 60°
SJ-08 95 35 M12x1.75P 1.5 x60°
SJ-10 110 40 M12x1.75P 1.5x60°
SJ-12 129 50 50 M16x2P (M14x2P 1.5 x 60°
SJ-15 165 62 62 M20x2.5P 1.5 x 60°
SJ-18 165 62 62 22(25.5 M20x2.5P 1.5x60° . ;
SJ-21 180 65 70 M20x2.5P 3.0 x 60° . 3 B-1 Fig.1
SJ-24 180 65 70 M20x2.5P 3.0 x 60° q ’
SJ-32 180 65 70 M20x2.5P 3.0 x 60°
SJ-40 180 65 70 M20x2.5P 3.0 x 60°

&-2 Fig.2

[~ ]
hdlll

[T

= y

@B am
) N

EE{iI/UNIT:mm

BT /AR BinER 2ZE B /RS EimER 2£EE

f MODEL  Nose of Spindle A Reference MODEL  Nose of Spindle A H H2 E  Reference
i / SPEC. D Drawing / SPEC. D Drawing
m

— Ad 110 B-1 fio. T004A.4 A4 85 826 706 40 fig.3
— """ T005A:5 A5 110 1048 826 45 fig.3
TO06A:5 140 @1 fig. T006Aq4 Ac4 140 826 1048 20 fig.2
dl BEiT/UNIT:mm T008A6 170 - TO0BA:6 A6 140 1334 1048 40 fig.3
RIt /3948 o = e P T008A5 A5 170 1048 1334 23 fig.2

SEEIARENEE PE 2ZE i _O08A> Ao T/0 1048 1934 25 B2 fig2
ySOFPE% H-1 H6 H7 H8 H-10 Serration Pitch  Weight (kg) Reference Drawing _ TO10A8 A8 220 1714 - 18 B figt W
b _ 2 2 . . 1g.

HJ-04 53 20 14 24 M8x1.25P 1.5x60° ) Fig.2 TO12A.8 ig. BE e As ron daad oA oa E o
HJ-05 53 29 14 24 M8x1.25P 1.5 X 60° . Fig.2 B BMEEN A6 220 1334 1714 28 -2 fig.2
HJ-06 67 39 20 28 M10x1.5P 1.5x 60° _ Fig.2 Teilet _To12A.11 A1 220 235 1714 54 @3 fig3
HJ-08 87 295 25 18 M12x1.75P 1.5 X 60° . Fig.1 TO18A.11 _ TO015A:8 A8 300 1714 235 33 fig.2
HJ-10 101 455 30 18 M12x1.75P 1.5x60° ) Fig.1 e R e o em o ee BT T018A:8 A8 300 171.4 235 33 fig.2
HJ-12 108 50 67 21(18 49 30 20 16 Mi16x2P(M14x2P 1.5x60° . Fig.1 T021A.15 =) T021A.8 A.8 380 171.4 3302 41 fig.2
HJ-15 143 62 86 22(255 55 43 38 M20x2.5P 1.5x60° ) -1 Fig.1 T TT;iA1 A1 380 235 3302 41 B2 fig2
HJ-18 143 . 55 43 38 M20x2.5P 1.5x60° . Fig.1 T024A:20 m

M20x2.5P 3 . - vemer el W vey ev9 T Te =re e
M20§2_5P . TO032A:15 T024A:15 A215 520 330.2 463.6 42 fig.2

M20x2.5P : _————————_——_—_—— T03%2Ad1 A1l 380 235 3302 41 @2 fig2
M20x2.5P : . = TO40A:15 TO40A:11 A:11 380 235 3302 41 @2 fig2

== 4R {4 AT Parts & Accessories|




5E A = T\

R I B > Dimensions

L3

3-]AW SCROLL CHUCKS

PS 4-JAW SCROLL CHUCKS
SESHEIPY T\ ZEE

R Y B > Dimensions

BI3LEY %38
Front Mounting Rear Mounting FG
E;m‘ g = —¥
T
=3
EE{, il Lﬁ—k w_ Il ol al <
Q Q Q
F
g b
#82 #% 38 > Specifications &8 {T/UNIT:mm
AT FRAS = UiER IE#EEEE Max. Gripping Diameter B E
MODEL A B C D E F G H J K L Max.Speed NI IR feslut= Weight
/ SPEC. r.p.m.(min"") 0.D.Clamping I.D.Clamping (k@)
SC-03 85 45 60 73 16 3.5 3-M6x1P 35 11 15 7 2500 22-970 024-064 1.5
SC-04 112 58 80 95 24 45 3-M8x1.25P 42 14 17 8 2500 23-090 032-084 3.3
SC-05 132 60 100 115 32 45 3-M8x1.25P 50 16 20 8 2500 23-9110 235-2100 4.6
SC-06 167 66 130 147 45 5 3-M10x1.5P 65 19 23 10 2000 24-0160 248-0150 7.9
SC-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.0
SC-08 203 76 160 176 58 5 3-M10x1.5P 75 22 28 11 2000 24-0180 256-0170 13.3
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.3
SC-10 273 86 230 250 89 55 3-M12x1.75P 98 28 39 12 1800 26-0260 270-9250 26.2
SC-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 210-2300 286-0290 37.6
SC-14 355 112 300 328 127 7 6-M12x1.75P 132 35 50 15 1500 012-0350 ©96-0320 57.2
SC-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-0400 2100-2380 80.7
U7XJ\Z&g
FHERY7X/T\BRE
R Y & > Dimensions
BU3LEY %38
J Front Mounting Rear Mounting G
= 4
.
i
e L S &
% | :
L
B
82 #% 38 > Specifications BE/UNIT:mm
AT FRAS e biER IEEEEE Max. Gripping Diameter 38
MODEL A B C D E F G H J K L Max.Speed IR Weight
/ SPEC. r.p-m.(min) 0.D.Clamping (kg)
AS-04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 1200 02-032 3.8
AS-06 167 65 130 147 60 5.0 3-M10x1i.5P 66 19 43 10 1200 23-060 8.2

47 (FBEIEEIRAER

BISLEY %33
Front Mounting Rear Mounting /Q
——c
I
=-— - g8l
F
g
#8 £% & > Specifications EEiI/UNIT:mm
AT /4R BeOER CiEE5E Max. Gripping Diameter /8
MODEL A B C D E F G H J K L Max.Spged NI ESTRcE ut Weight
/ SPEC. r.p.m.(min')  ©.D.Clamping I.D.Clamping (kg)
PS-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.1
PS-09 233 84 190 210 70 55 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.4
PS-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 010-300 086-0290 38.1
PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 014-0400 2100-0380 82.4
1 O
FERY/\ T\ 225
R T & >» Dimensions
B
G
NS
3
Ll
R £% 38 > Specifications B /UNIT:mm
BT /3RS ReOiEsE IEEFEE Max. Gripping Diameter PE
MODEL A B C D E F G H J K L Max.Speed NEICIE Weight
/ SPEC. r.p.m.(min") O.D.Clamping (kg)
AE-09 233 84 190 210 100 5.5 4-M12x1.75P 85 24 60 12 1000 07-0100 21

(For the precision standard, please refer to p.61)[48



Front Mounting Rear Mounting SKB Tl B3, B3
G Front Mounting Rear Mounting /Q
HEs === Bt =
) i T e
== 4l
—Ky QR ~ g —*K 13
HERE 4 e
L] _ILE
Y
B B ] Jod
g —L
#2 1& 28 > Specifications BE(i/UNIT:mm
AU /ARAR ESDiEE ICIEEEE Max. Gripping Diameter  (5E #7218 5= > Specifications EEfiI/UNIT:mm
MODEL C D E F G H J K L Max.Speed MO Eapeuti— Weight . R o o ) o
/ SPEC. r.p.m.(min")  O.D.Clamping 1.D.Clamping (kg) AU /3R R LEER EE?E? Max. Grlpplngflametef -2
SK-04 112 58 80 95 24 45 3-M8xi25P 47 19 315 8 2500 03-0100 035-093 3.45 MODEL A B C D E F G H J K L MaxSpeed st PIEiBiE - Weight
SK-05 132 60 100 115 32 45 3-M8x1.25P 57 24 36 8 2500 03-0123 043-0122 5.0 / SPEC. rp.m.(min")  O.D.Clamping  1.D.Clamping  (kg)
SK06 167 66 130 147 45 5 3-M10x1.5P 68 26 39 10 2000 28-0160 ©55-0150 8.6
SK07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 12.8 PSK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 12.7
SK08 203 76 160 176 58 5 3-M10x1.5P 82 28 43 11 2000 28-0180 062-0170 14.1
SK-10 273 86 230 250 89 5.5 3-Mi2x1.75P 102 35 545 12 1800 212-0260 280-0250 26.7 i i i i
SK-12 310 96 260 285 105 7 3-M12x1.75P 118 40 56 14 1800 015-0300 090-0290 393 B 310 96 260 285 105 7 S3Mi1.75P 118 40 % 14 1800 015-0300 090-0290 43
SK-14 355 112 300 328 127 7 6-M12x1.75P 139 45 705 15 1500 225-0350 2110-2320 60.7 PSK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 330-2400 2110-0380 86.7
SK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 230-0400 2110-0380 82.3
SK20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 2125-0460 145.5 PSK-20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 149
SK25 630 140 545 586 275 65 6-M16x2P 140 70 92 19 850 080-0630 2198-0601 221.3
SKB-25 630 140 545 586 320 65 6-M16x2P 140 70 92 19 850 2160-0630 0274-0646 2085 PSKB-25 630 140 545 586 320 65 6-M16x2P 140 70 92 19 850 2160-0630 0274-0646 215
= 1 — KE g ] [p— KE
EIEB — /T\zLg B3 8 = JT\Z&g
R - B > Dimensions R - B > Dimensions
E-1 A2y Fig.1 A1 type &-2 A28)  Fig.2 A2 type |
- -C- G
HEHs —
iU e =
| I
SRR ==
Sovd| = E L = 1
g =" ol gL—K Lk Hel  Slg
N \ I Y S
&/ 70 730" : Q_/ 7 7'30" 7770
- L
B B
A 18 F= > Specifications EE{T/UNIT:mm #2 1% & > Specifications EEfiI/UNIT:mm
T3t 848 s=E BSOS MaxGr;;Eg)%?gEameter . AT 4R B DR ?E}E§E Max. GrippingEiameter /@E
MODEL D E F G H JKL P M N Reference Max.Speed #s\imimig mIfsiei®  Weight '>/IOFI’:)EEL A B C D E F G H J K L MaX.Sp(_eei:i IEIEIE MIEIEIE Weight
/ SPEC. Drawing r.p.m.(min") Claorr}?)ing Clalr'~r?;5ing (kg) SPEC. r.p.m.(min")  O.D.Clamping I.D.Clamping (kg)
: D15-08" 200 83 82563 15 46 19 1048 82 28 43 11 2000 28-0180 062-0170 17.8
A15-08" 200 83 335 61.9 40 0104.8 3-M10x1.5P 82 82.563 28 43 11 14.29 ¢16.3 6.8 B-1 fig.1 2000 08-0180 062-0170 17.4 D16-08" 200 83 106.375 16 58 222 1334 82 28 43 11 2000 08-0180 062-0170 17.3
A16-08" 200 83 335 826 56 0133.43-M12x1.75P 82 106.375 28 43 11 15.88 019.3 6.8 B-1fig.1 2000 08-0180 062-0170 18 D16-10" 255 94 106375 16 76 222 1334 93 32 50 12 1800 211-0240 070-0230 31.3
Ai6-10" 255 91.5 365 826 56 ©133.4 3-M12x1.75P 93 106.375 32 50 12 15.88 ¢19.3 6.8 fi 1800 ©11-0240 ©70-0230 30.6 D:8-10° 2% 94 199719 18 76 254 1714 93 82 S0 12 1800 011-:0240 070-0230 50.9
6 95915365 826 56 0133.4 3Mi2x1.75 375325012 15.88 019.3 6.8 B&-1fig.1 011-0240 070-0 : Dig-12' 310 105 139719 18 103 254 1714 118 40 56 14 1800 015-0300 090-0290  51.1
A211-20" 500 135 40 235 190.5 0235 6-M20x2.5P 140 196.869 55 84 19 -- 029.4 10.7 B-2fig.2 1000 025-0480 0125-0460 161.5 Di11-20" 500 135 196.869 -- 1905 30.2 235 140 55 84 19 1000 025-0480 0125-0460  165.5

49

R < B > Dimensions

AUSLEY

3-]AW POWERFUL TYPE SCROLL CHUCKS
5ig ) BY — I\ 258 G S

Larger Through Hole

%31, 8

L3

R < B > Dimensions

Larger Through Hole

PS 4-JAW POWERFUL TYPE SCROLL CHUCKS
CEABEE NS IN PSKB : A3

(FBEEERERSR

=

ES]

618)

(For the precision standard, please refer to p.61)[50




oil

5 /] B SE B 2R /8

1 IESFIEREAN30° /S » HedS R FEfEF -
2 SHEBUERET - OBl T SHFRE -
3 MNMEROEERET - KENE S ©
4.587JBUERETOIFL AR ©

R~ B > Dimensions

N B K POWERFUL TYPE SUPER THIN CHUCKS

1.The handle with an angle of 30 degrees is much

convenient for operations.

2.The "super thin thickness" design of chucks

A

IS BUETEICAR

1.MC BEAREIHEST ; (ETEERRIZ 2 FSEIIREE W,X,Y,Z Z B
ZEENAZEZ0.05mmEAA -
2 MCHRASIITIZBAE T EARRR B AR DT » B hIMERE
BE o BIEE  J5E -
SIEMEERFFZEENE#0.02mm BLA -
4 BEFITIRIER » IBTARF 2 FITRZEA0.05mmLA -

R < B > Dimensions

SUPER THIN SQUARE CHUCKS

1.MC chucks are precisely ground, the tolerances
of W,X,Y,Z among chucks are within 0.05mm.

2.Soft jaws can be used alternatively for machining

,/G increase the "allowable distance" of machining special shaped work pieces, to substitute for
=AE operations. ] (081w designing and making a lot of jigs for this
T E 3.Chuck flange makes loading and unloading E 1 purpose.
g==:1F operations simpler and more convenient. Hi LE 3.The repetitive gripping accuracy with the hard
Q " Ll 1] o a = 4.Hard jaws and Soft jaws can be used KT jaws are within 0.02mm.
Q
9 =8 alternatively. z —81 28l < 4.Parallel gripping accuracy with hard jaws can be
= controlled within 0.05mm after aligning sides of
chucks.
S =k
¢ G
B2 @
B1 B
#7 #% 2= > Specifications EE{T/UNIT:mm {85 FA &E 51l > Operation Example
BT /RRAE
MODEL Al A2 B1 B2 C D
/ SPEC.
NBK-06 220 170 58 18 130 147 FSEIIRAZHR W, X, Y, Z SEER
NBK-08 270 210 65 20 155 172 r i—
NBK-10 315 255 73 20 190 210 X «| 2
NBK-12 370 305 80 22 250 285 N Vﬂ E el E 'ﬂ;
NBK-16 470 405 105 24 345 375 | P T P, |
TiFE
NBK-20 570 500 121 29 420 458
#5 #& € > Specifications EEi/UNIT:mm
BT /3818
MODEL E F G H J K BUTL /354
/ SPEC. MODEL A B ] D E F G H J K L M
/ SPEC.
NBK-06 45 6 3-M10x1.5P 68 26 40
NBK-08 60 6 3-M10x1.5P 82 28 43 MC-06 215 57 18 130 40 5.5 4-M10x1.5P 68 26 39 14 144
NBK-10 80 6 3-M12x1.75P 93 32 52
MC-08 250 65 20 160 55 6 4-M12x1.75P 82 28 43 17 174
NBK-12 105 5 3-M12x1.75P 118 40 59
NBK-16 160 7 6-M14x2P 150 50 75 MC-10 310 72 22 200 70 6 4-M14x2P 93 32 50 21 218
NBK-20 220 7 6-M16x2P 140 55 84 MC-12 380 85 25 260 100 7 4-M16x2P 118 40 56 23 274
EIEEE -
AT /3RAR Max.Gripping Diameter s EEEE
MODEL L M NIEIE PIBIE Weight AR /948 Max.Gripping Diameter PE
/ SPEC. 0.D.Clamping 1.D.Clamping (kg) VSQE% N P Q R S NEILIR IR Weight
(mm) (mm) : 0.D.Clamping .D.Clamping (ka)
NBK-06 10 13 28~0160 048~0150 10.6 (mm) (mm)
NBK-08 11 13 11~2200 62~0190 18.1
ore ooem0 MC-06 165 144 165 66 18 04-0128 055-0128 11.4
NBK-10 12 16 012~0250 072~0240 27.9
NBK-12 14 18 215~0300 ©86~0290 429 MC-08 200 174 200 83 18 05-0162 062-0162 18.6
NBK-16 15 18 260~0410 2145~0388 - MC-10 250 218 250 104 18 26-0200 072-0200 31.6
NBK-20 19 18 086~0500 0245~0488 150 MC-12 310 274 310 135 22 210-0265 ©90-0265 56.6

52



2-]AW STEEL BODY CHUCKS
B8 I\ JT\Si 7% 28

1. B USEHEEE T RELES -
2. TUS T RIRIEREEEE - IIARFF TIHEEE -
3.4 MR MEACNCEFASHE TR ©

SUPER THIN CHUCKS
HESE B AR

188~ 5E ~ F9/)\BUERET - BRI THERIZES -
2. EEzEEEetE - EIMERRTIRETY -
3. HRAEE - MAIEREE -

4 R MIER 2R FFmi FAE% ST - RIEJSE - 4 RSB SR LS ZEES - EE%E - FREMmE -
5.2"8x/ )\ T {F28$F0.8mm ° 5. EEEIR S D8/ \R{EIEES -
6.MTZREB{EI_ LRI - 8 G
G
R Y B » Dimensions 2k b R Y B » Dimensions ==
33 1499 eSSk
1] Wi
Bl ==
FEF-#H
L 1.5P- |1
K B

N 3-]AW STEEL BODY CHUCKS
B8 I\ = /T\ER7%Z 28

R 3 B > Dimensions

SE-ST STAINLESS STEEL SUPER THIN
CHUCKS
A SRR S S B 2R B8

R Y & » Dimensions e
ap::
& S5 &
i/
'J

—_

.By the compactness comes from " Light, Thin,

Short, Small " designing concept; the chucks

are most fitting to hold work pieces for

measuring.

2.Just rotate the chuck knob directly for gripping
and loosening, A handle is not necessary to be
used.

3.Chuck body is made of very durable steel.

4.Jaws can be reversibly used; gripping of

various sizes becomes much convenient.

1.Can be used as a "Forming plate" for machining
soft jaws.

2.Hard jaws and soft jaws can be adjusted just like
on a power Chuck to increase the gripping range.

3.Hard jaws as well as Soft jaws are
interchangeable with those of power chucks.

4.Chuck Body is made of steel to enhance safety
operations for high speed machining.

5.The Chuck Handle can be operated easily and
smoothly.

T

L 5.2" chucks can even grip up to the smallest size 1 5p.L 6.2-jaw Steel Body only provide the powerful
Kl. B of 0.8mm. type soft jaws.
#7315 = > Specifications E{I/UNIT:mm 435 Bh Bic & B 3~ 8% B8 > Illustrate
BT /3RS p 4
MODEL A B C D E F G H ’
/ SPEC. i S g MY
SE-02 63 28 118 100 16 4 4-M5x0.8P 27 e
SE-03 85 37 143 116 20 4 4-M6x1P 35 73 2 ')'\
SE-04 110 39 168 140 26 5 4-M6x1P 42 L - - l
o P
SE-05 130 45 202 168 32 6 4-M8x1.25P 50 N
SE-06 160 52 248 208 50 8 4-M10x1.5P 65 SO
S —— [N e SRR 88 T S B S BT T T SR R TR A T A W
EIEEE
UL /3RAE Max.Gripping Diameter BE The chuck can be used as a Top jaws can be adjusted Hard jaws are interchangable Soft jaws are interchangeable Optional accessory:
MODEL K L M P P Weight "Forming plate" for machining back and forth easily, thus with those of power chucks. with those of power chucks. Mounting plate.
1 SPEC NEIEE ANEEIEHE (kq) i . e
. 0.D.Clamping 1.D.Clamping g soft jaws. increasing gripping range.
(mm) (mm) e
82 #% 38 > Specifications EEi/UNIT:mm
SE-02 8 13 8 26 20.8~063 023~058 1.2 .
SE-03 1 15 10.5 32 01~081 031~070 29 N EizEE
FU=E /4B REEE Max.Gripping Diameter .
SE.04 “ 19 10 40 01~0100 096~090 49 Tﬂiggﬁ,ﬁu A B C D E F G H J K L M R Max. NERE  NEEE v
£ & Weight
SE-06 19 26 15 70 01.5~0160 052~0148 11.1 -p-m- (mm) (mm)
3 1% 2= > Specifications TNT-07 193 78 155 172 58 5 3-M10x1.5P 73 31 38 11 20 12 3200 08~0235 066~0235 14.4
IPiEEE TNT-09 233 8 190 210 70 5.5 3-Mi12x1.75P 95 35 40 12 25 14 2800 011~2280 085~2280 22.3
AT /3548 Max.Gripping Diameter BE #7 #% 5= > Specifications
')’QPE% A B C D E E1 F G H J K L M SMEIEIR PSR Wiigh‘ NT-07 193 78 155 172 58 5 3-M10x1.5P 78 28 46 11 20 12 3200 08~0235 066~0235  13.1
' O-D-(Cn'fr‘n")‘p'”g '-D-?rm‘)p'”g kg) NT-09 233 85 190 210 70 55 3-M12x1.75P 92 32 52 12 25 14 2800 011~0280  085~0280 21.2
NT-10 275 91 280 250 89 55 3-M12x1.75P 101537 56 12 30 16 2400 012~2330 092~0330 30.5
SE-04ST 110 39 168 140 26 51 5 4-M6x1P 42 14 19 10 40 21~0100 236~090 4.3 NT-12 310 104 260 285 105 7 3-M12x1.75P 116 47 67 14 30 21 2100 015~0370 0104~0370  46.1
53 (FEEEEIREESIRE61E) (For the precision standard, please refer to p.61)[54



S8 = B B = T\ SR 5

R < B > Dimensions

3-]AW ADJUSTMENT STEEL BODY SCROLL CHUCKS

R~ B > Dimensions

TK 2-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
O] SR\ 5R DB — MR 2EE

B G
|
K Eg
]
: CRER
AN
- =
XX
L M
#2 #% 38 > Specifications BSfiI/UNIT:mm
AU /44 e OISR BIEEEE Max. Gripping Diameter  $E&E
MODEL A B C D E F G H J K L M Max.Speed NI MfEiEE  Weight
/ SPEC. r.p.m.(min") O.D.Clamping 1.D.Clamping (k)
CT-06 167 75.5 130 147 45 12 3-M10x1.5P 65 22 28 10 3-M12x1.75P 4000 04~0160 048~0150 10.4
CT-07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 3-M12x1.75P 3500 04~0180 056~0170 12.9
CT-09 233 92 190 210 70 12.5 3-M12x1.75P 85 28 33 12 3-M12x1.75P 2900 05~0220 062~0210 20.4
CT-10 275 98 230 250 89 12.5 3-M12x1.75P 98 30 38 12 3-M12x1.75P 2500 06~0260 070~0250 29.3
CT-12 310 111 260 285 105 14 3-M12x1.75P 110 32 45 14 3-M12x1.75P 2200 210~2300 086~0290 43.7

FCT 4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS

o] 3 T\, & 58 BY PO T\ #HE 7% 22 5

R < B > Dimensions

agugagay

e

A
€=
K
4wl O g <
Q Q Ql Q
—EH _
—= F T ZREB{EIRH5R I AT -
— 2-jaw Steel Body only provide the powerful type
—BEE soft jaws.
L\
#R £% 38 > Specifications EEi/UNIT:mm
AU /384 EoiOiSE iBiEEEE Max. Gripping Diameter $E
MODEL A B C D E F G H J K L M Max.Speed IR MEEiEE Weight
/ SPEC. r.p.m.(min") O.D.Clamping I.D.Clamping (kg)
TKT-07 193 85 155 172 58 12 3-M10x1.5P 95 31 495 11 3-M12x1.75P 3500 2010~0180 070~0170 14.6
TKT-09 233 92 190 210 70 12.5 3-M12x1.75P 110 37 50 12 3-M12x1.75P 2900 012~0220 080~2210 22.4

KT 3-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS

o] SR\ 53R I B = TR &S

R~ B > Dimensions

R #% 38 > Specifications BSfiI/UNIT:mm
T ARRE BeOiER ILiEEE Max. Gripping Diameter 335
MODEL A B C D E F G H J K L M Max.Speed MR MEIEE  Weight
/ SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping (kg)
FCT-07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 3-M12x1.75P 3500 04~0180 056~0170 18.2
FCT-09 233 92 190 210 70 12.5 3-M12x1.75P 85 28 33 12 3-M12x1.75P 2900 05~0220 062~0210 20.7
FCT-10 275 98 230 250 89 12.5 3-M12x1.75P 98 30 38 12 3-M12x1.75P 2500 06~0260 070~0250 29.8
FCT-12 310 111 260 285 105 14 3-M12x1.75P 110 32 45 14 3-M12x1.75P 2200 210~0300 086~2290 44 .4

55 (FBEEEREFSIRE61H)

I_L_
e |43 o
Q Q) Q Q|
E REEH
F
I |
= Ky
L M
R £% 38 > Specifications EEi/UNIT:mm
BT /48 EoiOiSE iBIEEEE Max. Gripping Diameter 5E
MODEL A B C D E F G H J K L M Max.Speed NEAEIE miEiEiE Weight
/ SPEC. r.p.m.(min") O.D.Clamping I.D.Clamping (kg)
KT-06 167 75.5 130 147 45 12 3-M10x1.5P 68 26 39 10 3-M12x1.75P 4000 28~0160 955~0150 9.7
KT-07 193 85 155 172 58 12 3-M10x1.5P 82 28 43 11 3-M12x1.75P 3500 28~0180 062~0170 13.6
KT-09 233 92 190 210 70 12,5 3-M12x1.75P 93 32 51 12 3-M12x1.75P 2900 211~0220 970~0210 21.5
KT-10 275 98 230 250 89 12.5 3-M12x1.75P 102 35 54 12 3-M12x1.75P 2500 012~0260 280~0250 30.4
KT-12 310 111 260 285 105 14 3-M12x1.75P 118 40 58 14 3-M12x1.75P 2200 215~0300 290~0290 45.4

(For the precision standard, please refer to p.61)[56



4-]AW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
o] 5F 1\, 58 70 BY PO M ER =% 22 5 v

R < B > Dimensions

B DIN6350

o] 35 I\ & s B = /T I 7% 288 g

R Y B > Dimensions

o

3-JAW ADJUSTMENT STEEL BODY SCROLL CHUCK

K K EEI}
%% g d 3 «%]%Jg%g
s i
F 5 F
. t; 1 i
= ‘
L M L \M
#52 #% 32 > Specifications BE{if/UNIT:mm *5 #%& & > Specifications ESiT/UNIT:mm
- = == a3 5 ioDi i g 1y o liEE BIEEE Max. Gripping Diameter
il awhil ot Re0iER BIEEEE Max. Gripping Diameter 5E& BT /3RS BEX=1= . -
MODEL A B C D E F G HJ K L M MaxSpeed  symmm piEe  Weight MODEL A B C D E F G HoJ K M L M Opeel B | iR
/ SPEC. r.p.m.(min") O.D.Clamping 1.D.Clamping (kg) / SPEC. -p-m- -D-Llamping  1.D.Llamping
3DACT-04 100 60 70 83 20 10 3-M8x1.25P 42 14 17 4-M8x1.25P 8 5200 03-095 030-083
FKT-07 193 85 155 172 58 12 3-M10x1.5P 82 28 43 11 3-M12x1.75P 3500 28~0180 062~0170 14.1 3DACT-05 125 65 95 108 32 10.5 3-M8x1.25P 50 16 20 4-M10x1.5P 8 4800 23-0122 235-0111
3DACT-06 160 725 125 140 42 12  3-M10x1.5P 65 19 23  4-M12x1.75P 10 4200 04-0160 046-0155
FKT-09 233 92 190 210 70 125 3-M12x1.75P 93 32 51 12 3-M12x1.75P 2900 011~0220 070~0210 22 3DACT-08 200 825 160 176 55 12 3-M10x15P 75 22 28  4-M12x1.75P 11 3500 204-0197 251-0184
FKT-10 275 98 230 250 89 12.5 3-M12x1.75P 102 35 54 12 3-M12x1.75P 2500 012~0260 080~0250 33.5 3DACT-10 250 91 200 224 76 13 3-M12x1.756P 98 28 38.5 4-M12x1.75P 12 2600 06-0267 070-0252
P> 310 111 260 285 105 14 3M12x1.75P 118 40 58 14 3-Mi2x1.75P 2900 155300 900290 461 3DACT-12 315 103 260 286 103 14 3-M16x2P 110 30 44.5 4-M12x1.75P 14 2200 010-0325 081-0308
’ e e oto~e ovh~e ' 3DACT-15 400 122 330 362 136 15 3-M16x2P 146 40 56 4-M12x1.75P 17 1600 014-0428  0106-0410
' POWER SOFT JAWS %~ DIN6350 4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS
E ~ I = —
sE70EM OJ 5f T\, & 58 Y PO JT\ $i 7% 22 8
R Y B > Dimensions
R < B > Dimensions
! J B
ﬁ | —
c =
v o By
=
budl
Re C T
G 7]7{41%‘]_”&@ s 8 & ©
PN 5
0 W L
4_'_F|_7 , T
5
Ll M
#2 #% 38 > Specifications BEfi/UNIT:mm
BT, /4548 BE #7218 5% > Specifications EEf/UNIT:mm
'>/IS|PEE(|;_ A B c D E F G H J K L M N Vv(ilgg)ht ﬂﬁ/%ﬁ% e 0iEE BIREEE Max. Gripping Diameter
- MODEL A B c D E F G H J K M L Max.Speed  szimiz REIE
SO04Jaw 52 30 19 24 953  7.94 M6x1P 14 11 3 25 21 7 0.45 1 SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping
SO05Jaw 62 35 24 32 12.68 7.94 M8x1.25P 15 14 3.5 3 24 9 0.9
SO06Jaw 73 37 26 38.1 12.68 7.94 M8x1.25P 17.45 14 3.5 3 25 9 1.3 4DACT-08 200 825 160 176 55 12  3-M10x1.5P 75 22 28 4-M12x1.75P 11 3500 04-0197 051-0184
SO07Jaw 95 48 31 44.4 12.68 7.94 M10x1.5P 25.3 17 3.8 3 34 1 2.6
S009Jaw 110 48 37 54 19.03 12.7 M12x1.75P 28 19 4.2 3 34 13 3.6 4DACT-10 250 91 200 224 76 13 3-M12x1.75P 98 28 38.5 4-M12x1.75P 12 2600 06-0265 270-0250
SO12Jaw 125 54 42 63.5 19.03 12.7 M12x1.75P 30.75 19 4.2 3 38 13 5.5
S0O20Jaw 160 80 55 76.2 19.03 12.7 M20x2.5P 41.9 32 5.5 6 58 21 -- ADACT M p M P
SO25Jaw 160 80 75 76.2 19.03 127 M20x2.5P 41.9 30 5.5 6 58 29 N -15 400 122 330 362 136 15 3-M16x2 146 40 56 4-M12x1.75 17 1600 014-0408 2106-0389

S

(For the precision standard, please refer to p.61)[58




4-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS

O] 58 I\ @ BY 7T\ 7% 2E 88 g 38 3\ 58 7J BY PO/ EH 7% 2L 8

R Y B > Dimensions R - B > Dimensions

B G
— —
K < =
wlHt+ g8l s =] 811 8 8l 8
| e ] .
s i . >
K
L \M : L M
1 1% & » Specifications BSf/UNIT:mm #R 1% & » Specifications B2 /UNIT:mm
BT /RS e0iER iBiEEEE Max. Gripping Diameter BT /RS Be0iEE BiEEEE Max. Gripping Diameter
MODEL A B C D E G F H J K L M Max.Speed NTAEIE fessia= MODEL A B C D E G F H J K L M Max.Speed  slimiz RIEIEE
/SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping /SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping
6DACT-08 200 825 160 176 55 3-M10x1.5P 12 75 22 28 11 4-M12x1.75P 2900 04-0183 051-g170 4DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 11 4-M12x1.75P 3500 08-0205 059-0190
6DACT-10 250 91 200 224 76 3-M12x1.75P 13 98 28 385 12 4-M12x1.75P 2200 06-0249 070-0233 4DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545 12 4-M12x1.75P 2600 012-0265 078-0249
6DACT-12 315 103 260 286 103 3-M16x2P 14 110 30 445 14 4-M12x1.75P 1800 210-0305 081-0288 4DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 56.5 14 4-M12x1.75P 2200 015-0323 086-0296
6DACT-15 400 122 330 362 136 3-M16x2P 15 146 40 56 17  4-M12x1.75P 1300 014-0406 0105-0387 4DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-M12x1.75P 1600 030-0419 0124-0396

DIN63504D &% DIN6350

3-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS

O] R T\ 58 7D B = M A% 22 5 o] 5F T\, 58 7D BY 77 22 8

R < B > Dimensions R < B > Dimensions

A
K Eﬂ}
wd Ol ol <
Q Q Q Q
]|
I T ] g iT
e
Ll \Mm — L \m
#82 #& & > Specifications EE{i/UNIT:mm #5218 F= > Specifications EEfi/UNIT:mm
AT /3548 Be0iEE E¥EEEE Max. Gripping Diameter GillGawsr e e0iEE BiREEE Max. Gripping Diameter
MODEL A B C D E G F H J K L M Max.Speed  syiEimiE POFEIEIR MODEL A B C D E G F H J K L M Max.Speed  syimiz PO TR
/SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping / SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping
3DAKT-05 125 65 95 108 32 3-M8x1.25P 10.5 57 24 36 8 4-M10x1.5P 4800 03-0121 044-0120 6DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 11 4-M12x1.75P 2900 017-0193 067-0178
3DAKT-06 160 725 125 140 42 3-M10x1.5P 12 68 26 385 10 4-M12x1.75P 4200 08-0169 050-0158
SEUTNE 200 525 160 176 55 SMIoxISP 12 82 28 43 11 4Mi2d75P 3500 580206 558-0191 BDAKT-10 250 91 200 224 76 3-Mi2x1.75P 13 102 35 545 12 4-M12x1.75P 2200 019-0248 084-0232
SDAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545 12 4-M12x1.75P 2600 012-0266 0776250 6DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 565 14 4-M12x1.75P 1800 023-0323 093-0296
3DAKT-12 315 103 260 286 103 3-Mi16x2P 14 1175 40 565 14 4-Mi12x1.75P 2200 215-0340 085-0313
3DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-Mi12x1.75P 1600 030-0440 0123-0416 6DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-M12x1.75P 1300 030-0419 0124-0396

59 (EEEEIREESIRE1H) (For the precision standard, please refer to p.61)[60



61

= BN SCEEE IS T A
THE INSTALLATION AND CLAMPING PRECISION STANDARD

BT SRR WRF 3L WIEEERRE
R+ MODEL Radical & Axial Runout Pinion Arrow Position Gripped Test-Bar Runout
SIZE a b | G d e f g
3" 0.02
4" 0.02 0.05 0.05
- 38 AN AN
5 0.02 0.05 0.05
6" 0.02
T - 0.03
7 0.02 tTE}_L_ N 0.04 0.02 0.04 0.02
Master Pinion
8" 0.02 50 0.05 N N
o 0.02 \ 0.05 0.05
10 0.02 =3
12" 0.02 Other Than Master Pinion 0.05 0.05
75 AN AN
iar 0.02 0.05 0.05
16" 0.02
0.03 0.03
20" 0.02 100 0.05
0.1 0.1
25" 0.02 125 0.08
bR RIEENE (mm) IRIEER Test Ring(mm)
R MODEL Dia. of Test Bar
SIZE PI{E Inner Dia. & Outer Dia. [EE Thickness
3" 8 10 -- 30 60 20
4" 10 20 - 55 90 20
g 10 20 30 60 100 20
6" 20 30 40 75 125 30
7" 20 30 40 85 150 30
8" 20 30 40 85 150 30
9" 30 40 50 110 175 30
10" 30 40 50 135 215 30
12" 40 50 70 150 235 40
14" 40 50 70 170 270 40
16" 70 95 120 180 310 40
20" 100 140 180 275 365 40
255K 130 190 240
380 420 40
25SKB(PSKB) 190 240 290
2 d
b ﬁ)
: c e
| 9
f

CHANDOX






